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The following table shows the percentage (%) distribution of total number of employees, males and graduates

of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,
answer the question,

Department-wise Distribution of Employees, Males and Graduates.

Department Diartribution (%)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

Frafeiad arfere # feoet sl & w: [aUnT A - F & Searial, goy iR |ias! ®1 e -l o1 uided
TqoRU1 RITaT a1 § | 31 - & HHdTal B $d Sl 8,000 ¢ e U3 iR Afga &1 AU 3:58
R AP 3R RIS BT ST 3 : 2 ¢ | AMCTDT H ST T AP F SR TR Y BT IR aiforg|

ST, ToY 3R Ad@] B [UFTAR deaRor

faym SR D

HHAR] 75y Hadh
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

What iz the number of employees working in department F who are Post-Graduate ?

524
526
. 528
. 530
1)1
(2) 2
3) 3
4) 4

T F & SriRd e Soral o 98 e 82

e S

1. 524
2. 526
3. 528
4, 530
1) 1
) 2
(3) 3
(4) 4

1[Option ID=30701] Question Description : general_paper_genarel paper_set 11_english_q1
2[Option ID=30702]
3[Option ID=30703]
4[Option ID=30704]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%o
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

rafead arfere # feet Sl & w: [aurT A - F & SeaiRal, 5oy SR |ias! ®1 g I8 o1 wiaed
TqoRU1 RITaT 71 § | 31 - & HHETal B $al Sl 8,000 ¢ e U3y SR Afga &1 AU 3:58
HR AP 3R RIS BT S 3 : 2 § | AMCTDT H 4T T DS F SR TR TY BT IR aiford|

ST, ToY 3R Ad®] &1 [UFTER daror

fayr 1C4)

HHAR] P EEIGEE
A 20% 25% 16%
B 12% 18% 17%
z 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

What iz the total number of male graduate employees working in department D ?

3.1280
4. Cannot be computed
1 1
2) 2
3) 3
(4) 4

UM D & F1Rd [0 Wias HHaidl &1 $d &l fba-l g2

1. 600

2. 480

3. 1280

4. T BT 3baH g1 BT &l Wbl &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30705] Question Description : general_paper_genarel paper_set 11_english_q2
2[Option ID=30706]

3[Option ID=30707]
4[Option ID=30708]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%o
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

rafead arfere # feet Sl & w: [aurT A - F & SeaiRal, 5oy SR |ias! ®1 g I8 o1 wiaed
TqoRU1 RITaT 71 § | 31 - & HHETal B $al Sl 8,000 ¢ e U3y SR Afga &1 AU 3:58
HR AP 3R RIS BT S 3 : 2 § | AMCTDT H 4T T DS F SR TR TY BT IR aiford|

ST, ToY 3R Ad®] &1 [UFTER daror

fayr 1C4)

HHAR] P EEIGEE
A 20% 25% 16%
B 12% 18% 17%
z 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

What is the difference between the total number of female employees and the total number of male employees
working in the company ?

1. 1000
2.2000
3. 3000
4. 4000
(1)1
) 2
(3) 3
(4) 4

HU T SR Al SHANG] &1 T = 3R JEH SHARA] Hf Ho G0 & did 3R [ha-l g2

1. 1,000
2.2.000
3. 3,000
4. 4,000
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=30709] Question Description : general_paper_genarel paper_set 11_english_q3
2[Option ID=30710]
3[Option ID=30711]
4[Option ID=30712]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%o
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

rafead arfere # feet Sl & w: [aurT A - F & SeaiRal, 5oy SR |ias! ®1 g I8 o1 wiaed
TqoRU1 RITaT 71 § | 31 - & HHETal B $al Sl 8,000 ¢ e U3y SR Afga &1 AU 3:58
HR AP 3R RIS BT S 3 : 2 § | AMCTDT H 4T T DS F SR TR TY BT IR aiford|

ST, ToY 3R Ad®] &1 [UFTER daror

. AT (%)
HHAR] P EEIGEE
A 20% 25% 16%
B 12% 18% 17%
i 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%
The number of graduate employees working in department C is % of the number of Post-Graduate

employees working in department E.

1. 260
2. 180
3.160
4. 120
(1)1
) 2
(3) 3
(4) 4

faumT ¢  oriRd Sde SHERG! & I8 fAHT E 8§ SRiRd WIKIae GHaE] &1 9l &l
% gl

1. 260
2. 180
. 160
.. 120
(1)1
(2) 2
(3) 3
(4) 4

S )

1[Option ID=30713] Question Description : general_paper_genarel paper_set 11_english_q4
2[Option ID=30714]
3[Option ID=30715]
4[Option ID=30716]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%o
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

rafead arfere # feet Sl & w: [aurT A - F & SeaiRal, 5oy SR |ias! ®1 g I8 o1 wiaed
TqoRU1 RITaT 71 § | 31 - & HHETal B $al Sl 8,000 ¢ e U3y SR Afga &1 AU 3:58
HR AP 3R RIS BT S 3 : 2 § | AMCTDT H 4T T DS F SR TR TY BT IR aiford|

ST, ToY 3R Ad®] &1 [UFTER daror

AT (%)
faHeT HHAR] P EEIGEE
A 20% 25% 16%
B 12% 18% 17%
i 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%
Total number of female employees in department F is % more than the total number of male employees

working in department A.

1. 72
2. 74
3.76
4, 80
(1)1
) 2
(3) 3
(4) 4

WFﬁﬂ%ﬂﬁﬁﬂ%ﬁﬁﬁ@ﬁ@ﬂmﬁWAﬁmlmdWmﬁau’émﬁwt—i@ﬁf
% 3B B

2
74
. 76
. 80
(1) 1
(2) 2
(3) 3
(4) 4

L

S

1[Option ID=30717] Question Description : general_paper_genarel paper_set 11_english_q5
2[Option ID=30718]
3[Option ID=30719]
4[Option ID=30720]
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Arrange the five steps of understanding level of teaching (according to Morrison) in the ascending sequence :

A. Organisation
B. Assimilation
C. Presentation
D. Recitation
E. Exploration

Choose the correct answer from the options given below :

ECBAED
.C,B,A,E&D
,A,C,D,B&E
.D.E.C.B&A
(11
(2 2
(3) 3
(4) 4

TRI&0T & SIS TR & Ui =R (HRIFA & 3HR) DI HRIg pH H GIfeid ifoiis

b =

Y

i fou T fowedl H 9§ U8l SR &1 994 DI

.E.C.B.A3RD
.C,B,A.ESRD
.A,C,D.B3RE
.D.E.C,B3RA
(1) 1
(2) 2
(3) 3
4) 4

S PO SR

1[Option ID=30721] Question Description : general_paper_genarel paper_set 11_english_q6
2[Option ID=30722]
3[Option ID=30723]
4[Option ID=30724]

Sl. No.7
QBID:11201007

In model of teaching '"ADDIE!, the letters D', 'D' stand for :

1. Design and Development
2. Development and Deployment
3. Design and Deployment
4. Dedication and Development
1 1
2) 2
3) 3
(4) 4

e & USIStegs (ADDIE) Hisa § D, D' &1 oY &:

. Hffidpeg 3R fam™
f@org iR uRfagieE

. i@ e 3R g
1

() 2

3) 3

(@) a

e L b2

1[Option ID=30725] Question Description : general_paper_genarel paper_set 11_english_q7
2[Option ID=30726]
3[Option ID=30727]
4[Option ID=30728]




Sl. No.8
QBID:11201008

In learning, classical conditioning effects are an example of :

1. Implicit Memory
2. Eidetic Memory
3. Retroactive Memory
4. Explicit Memory
1)1
(2) 2
(3) 3
(4) 4

SHTERTH H R S5 UHId 1 U a6Vl 6:

1. e wfa
2. TR Fyfd
3. gaciell wid
4. gER FHd
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30729] Question Description : general_paper_genarel paper_set 11_english_q8
2[Option ID=30730]

3[Option ID=30731]
4[Option ID=30732]

Sl. No.9
QBID:11201009

Which of the following are the vital elements of Pedagogical skills ?

A. Content knowledge

B. Personality of the learners

C. Students understanding of conceptions of the subject matter and learning
D. Intelligence of the learners

E. Teaching strategies

Choose the correct answer from the options given below :

1. Aand E Only
2.C.Dand E Only
3.A,Band D Only
4. A, CandE Only

1

(2) 2

3) 3

(4) 4

frafafaa o o fRremr aret S1ed & 90 eeud &
A. fawgas &1 3

B. 3ieRm®al &1 Afdda

C. favgaw] 3R St &1 daed=rsi @1 faendf @1 vz
D. it dl &1 gigafe

E. g1 Iumifa

i feu 7Y fas et § 9 981 9Tk D1 997 SHifole:
1. %ad A SRE

1[Option ID=30733] Question Description : general_paper_genarel paper_set 11_english_q9
2[Option ID=30734]




3[Option ID=30735]
4[Option ID=30736]

Sl. No.10
QBID:11201010

SWAYAM Platform facilitates hosting of all courses taught in classrooms :

1. From 5th to Postgraduate
2. From Class 11th to Undergraduate level only
3. For Postgraduate only
4. From class 9th to Postgraduate
1)1
2) 2
(3) 3
(4) 4

WY (SWAYAM) WehTH Heflel 8 ggne U 9wl ureaha| & Sare- &f gared &-rdl gl

1. P&l 541 ¥ WRIEdd d
2. Had P&l 191 I [P Jd &R a8
3. had WD db
4. P& o0l  WIEAD dh
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30737] Question Description : general_paper_genarel paper_set 11_english_q10
2[Option ID=30738]

3[Option ID=30739]
4[Option ID=30740]

SI. No.11
QBID:11201011

The appropriateness, meaningfulness and vsefulness of the specific inferences made from the measures. is

called

1. Parallel Test Reliability
5

P
. Interrater Reliability
3. Test-Retest Reliability
4. Validity

11

(2) 2

(3) 3

(4) 4

a1 3 v faf st &t Sugadan, wdedr siR Swgifiar o1 oer o &

. GHIATAR GRI& fayg-igdr

 ee fays-adn

. gﬁ&m@mﬁ‘&m [EEREIEG]
il

:l;.t_ui._;l»—l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30741] Question Description : general_paper_genarel paper_set 11_english_q11
2[Option ID=30742]

3[Option ID=30743]
4[Option ID=30744]

Sl. No.12
QBID:11201012

In survey based research in Social Sciences, when vou decide to tell participants something false about the
purpose of the research, you are using

1. Active deception
2. Dehoaxing
3. Naturalistic observation
4. Sensitization
(1)1
(2) 2
3) 3
(4) 4




I (A5 & Faafun SMeTd Qe 3, 5 39 ¥e & Jaied & ar 8 Jiauifil o $5 Tad s &
g € 9 T BRI B

1. 9ithg U
2. 19 H 751 T
3. Wi icics Hafur
4. GATRIHR0T
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30745] Question Description : general_paper_genarel paper_set 11_english_q12
2[Option ID=30746]

3[Option ID=30747]
4[Option ID=30748]

Sl. No.13
QBID:11201013

For testing difference in means of two independent samples with ny and n, , the number of items in the two

samples, respectively, the t-statistic iz computed with the following degree of freedom.

L.ny+np—1
2.ny+n,-2
Ing +ny
4.n+ny+1

1) 1

(2) 2

3) 3

4) 4

n; 3R n, AT (& &1 T Uil & A1ed] & 3R & URI & [eTU «-HilReTes g o] FHafaiad @dad
@ Bife YDA B

Loy +ny—1
2.ny+n,-2
.oy +ny
4.ny+ny;+1

1) 1

() 2

(3) 3

4) 4

1[Option ID=30749] Question Description : general_paper_genarel paper_set 11_english_q13
2[Option ID=30750]
3[Option ID=30751]
4[Option ID=30752]

Sl. No.14
QBID:11201014

In bibliographies and footnotes, researchers often use the abbreviation 'ibid'., which means

1. in the same place
2. introduction
3. and the following
4. here and there
(1) 1
(2) 2
3) 3
(4) 4

T 7y gt SR e feoft & el o HEIER ibid BT WA S 8. forge 3 &:

U =y Hrag
R ENIGEI

3R Fafefaa
@ 1

@ 2

@ 3

@ 4

da o B2 =




1[Option ID=30753] Question Description : general_paper_genarel paper_set 11_english_q14
2[Option ID=30754]
3[Option ID=30755]
4[Option ID=30756]

Sl. No.15
QBID:11201015
a2

Answers to which among the following questions can be found in the 'Discussion’ section of a research paper ?

A. What kind of instrumentation was used in the study ?

B. How do your results relate to existing studies on the topic 7

C. What do the results mean ?

D. What were the results of any statistical tests ?

E. What new ideas emerge that you could evaluate in a subsequent experiment ?

Choose the correct answer from the options given below :

A, B and C Only
.B. CandD Only
.B. C and E Only
.C.D and E Only
(1) 1
@) 2
3) 3
4) 4

Ty U & gREE] YT H Fgieiad § I G i & SR U 6T o 9@d 52

A. MOy | (69 YR & USRI &1 Y4 f6ar Tar

B. foawg W adumE el I ok eyl o $Y I&fid fear o 9ear g2

c. oyl ot g w g2

D. Uieg®! qiieur & ey o 92

E. 2% & - 3R [a9R &1 8, [SH®T 3119 WRiad Yai & Gedid &2 9@d 62

= feu Tt faedl o ¥ Hel SR &1 90 Piiut:

1.HaAA, B IR C
2. %adA B, C AR D
3. ®ad B, C ARE
4. %A C, D IAIRE

1 1

) 2

3) 3

(@) 4

R S ]

1[Option ID=30757] Question Description : general_paper_genarel paper_set 11_english_q15
2[Option ID=30758]
3[Option ID=30759]
4[Option ID=30760]

Sl. No.16
QBID:11201016

From the communication viewpoint which one of the following is a cultural institution ?

. Trade organizations
. Political parties

. Military alliances

. Family

1) 1

) 2

3) 3

4) 4

Tt 3t 2P 9, Fefifaa § oF te aiRefoe SwE g

1. TTUR G716

B R




(4) 4

1[Option ID=30761] Question Description : general_paper_genarel paper_set 11_english_q16
2[Option ID=30762]
3[Option ID=30763]
4[Option ID=30764]

Sl. No.17
QBID:11201017

Which one of the following is excluded from the list of communication barriers ?

1. Physical
2. Semantic
3. Philosophical
4, Psychological
(1) 1
(2) 2
3) 3
4) 4

oo aTenaT P g H e aa i T8 8

TRIR®

. 3efig
ECIGRIEED
(1) 1

(2) 2

(3) 3

4) 4

P

1[Option ID=30765] Question Description : general_paper_genarel paper_set 11_english_q17
2[Option ID=30766]
3[Option ID=30767]
4[Option ID=30768]

Sl. No.18
QBID:11201018

Which of the following are forms of traditional media of communication 7

A Street demonstrations
B. Yakshagana

C. Puppetry

D. Hari Katha

E. Filmy dances

Choose the correct answer from the options given below :

1. A, B, C Only
2.B.C.D Only
3.C. D, E Only
4. A, D, E Only

1) 1

) 2

(3) 3

(4) 4

FafafEa § o15-9 FU 9uyu & TRuReE ATEH 82

A. 93® UaxA

B. T&TH

C. PEYAa PI WA
D. R&YI

E. fioedlt T

4 feu e fawedl § ¥ 98 I9gH SR BT 90 BT

1.Pad A, B, C
2. $4dB.C,D
3. %90 C,D,E
4. PAdA.D,E
1) 1
(2 2




3) 3
(4) 4

1[Option ID=30769] Question Description : general_paper_genarel paper_set 11_english_q18
2[Option ID=30770]
3[Option ID=30771]
4[Option ID=30772]

Sl. No.19
QBID:11201019

Effective classroom communication is intended to make learners acquire new

A, Knowledge

B. Behaviours

C. Soft skills

D. Ways of aggressive attitude
E. Hyper-reaction

Choose the correct answer from the options given below :

A.B. C Only
.B. Cand D Only
.C.D,E Only
A.D.E Only

O

1) 1
(2) 2
(3) 3
(4) 4

YA e TUNU BT IR ATHSBAIH BT 1 U ST 82

A TAFIH

B. 74 &deR

C. T4 919 DI

D. 3{shTHS H-lgfd & =4 1

E. =g srfear
149 feu e fawedl # ¥ e Sugad SR &1 99 Sifoie:

1. Haw A, B, C
2.%4qu B, C.D
3. %90 C, D, E
4. PAAA.D,E
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=30773] Question Description : general_paper_genarel paper_set 11_english_q19
2[Option ID=30774]

3[Option ID=30775]
4[Option ID=30776]

Sl. No.20
QBID:11201020

Given below are two statements:

Statement I : Infer-personal communication can be mediated or aumediated.

Statement IT : On its part mostly, mass communication need not be mediated.

In the light of the above statements, choose the correct answer from the options give below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1 1

) 2

3) 3

(4) 4




RIECICAEAEURIDEE

HY 1 : SiddgiaP YUY Fafed I1 Sfeddied 81 Ibal ¢ |

Y 11 : UI: SHF YT R o1 GUN0T &7 afed i1 $1avde ol eldl @ |
QRIS Ul & el H I 138 12 faspedl # 3 9! Suv &l 9g Sifod -

L PUHEIARPYA N A T B |
2. YT AR BYT 1 F] A E |
3. PYTIIIE IR BYT I 3T ¢ |
4 FUHFIITI IR FUA I IR |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30777] Question Description : general_paper_genarel paper_set 11_english_q20
2[Option ID=30778]
3[Option ID=30779]
4[Option ID=30780]

Sl. No.21
QBID:11201021

A Picce of work can be done by 3 boys and 2 men jointly in 10 days. The same work can be done jointly by 2
boys and 3 men in 8§ days. In how many days the same work can be done by 1 boy and 2 men jointly ?

115
LS
A5
145
1)1
(2) 2
(3) 3
(4) 4

U G &I 3 TS 31 2 MeH! faex 10 fGAi & R add §1 S FH o1 2 T8 ik 3 3reH faae s
it ox P § 1 S T $ 1 TH1 3R 2 e e foraa 1 § &= o

i
125
.13.5
. 14.5
(1) 1
) 2
(3) 3
(4) 4

b o=

da L

R

1[Option ID=30781] Question Description : general_paper_genarel paper_set 11_english_q21
2[Option ID=30782]
3[Option ID=30783]
4[Option ID=30784]

Sl. No.22
QBID:11201022

After increasing the selling price of an article by 25%, the new price of the article becomes Rs. 250. Now a
discount of 25% is offered on the new price. What would be the profit or loss in percentage on the original

price,

1. Profit of 6.25%
2. Loss of 6.25%
3. Loss of 12.5%
4, Profit of 12.5%

(1) 1

(2) 2

(3) 3

(4) 4




[EikESGa T 25% @1 gig B & UYUTd G BT Ad1H Hed 250 941 81 odl o1 59 90 T R
; STl § 1 59 Ugd (He) & Hod TR fava- ufasrd @t ey sran g1 gifle

5
o oy ﬁ-‘)
2
a4

2DDE

¥, ]
O O .0 O

1[Option ID=30785] Question Description : general_paper_genarel paper_set 11_english_q22
2[Option ID=30786]
3[Option ID=30787]
4[Option ID=30788]

Sl. No.23
QBID:11201023

If S is an even integer, then which of the following are true ?

A S+ 1 will be odd
B. 25 - 1 will be odd

.82+ 1 will be odd
.82 -1 will be odd
. §2+ 2 will be odd

W g n

Choose the correct answer from the options given below :

1. Aand B Only
2. A, Band C Only
3.A.B.Cand D Only
4, C, D and E Only
1) 1
) 2
3) 3
4) 4

7% s U woguf We &, 79 Fefkifea S 9 oF-8 va

.S+ 1 fasmsim
.28 -1 f[qug B
.82+ 1 faum g
.§2.1 fawm g
s?+2 fawm g

i fAu 7T faw et § 9 981 9Tk 31 99 SHifole:

1. Had A 3R B

2. %ad A, B IR C
3. %ad A, B, C 3R D
4.%aAC, D ARE

(1) 1
(2) 2
(3) 3
(4) 4

m g N W e

1[Option ID=30789] Question Description : general_paper_genarel paper_set 11_english_q23
2[Option ID=30790]
3[Option ID=30791]
4[Option ID=30792]

Sl. No.24
QBID:11201024

IfA=2.7Z =52 and CAT = 48 and BAT = 46. Then what will be the value of RAT + MAT ?




3) 3
(4) 4

A=2, 7 =52 3R CAT = 48 TUT BAT = 46 B Gl RAT + MAT P I &1 811

78
146
68
. 148
1)1
(2) 2
(3) 3
(4) 4

Lo D

1[Option ID=30793] Question Description : general_paper_genarel paper_set 11_english_q24
2[Option ID=30794]
3[Option ID=30795]
4[Option ID=30796]
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A takes twice as much time as B takes and thrice as much as C to complete a job. By working together A, B
and C can complete the job in 4 hours. Find the time taken by each of them separately to complete the job. i.e.
the time taken by A, B, and C respectively to complete the job,

(4) 4
ot ST S J0T P H A $ §RI OT 1 aTal 990 B & §RT Y S aTed 990 $TERH AR C P
GRT A W1 ard §00 BT dH-[1 61 A, B, C U 91 @R 39 S Bl 4 62 T JUIG PR 9Dd 5 | 37
JE% gR1 BTH S AT B3 H U U {T1-3T G5 61 J1d HIOT AT A, B, C 391 HH BT &
T 3IE1-I BT fda-1 T9g avmaan

12,

8.24)
2.24)
6,24)

1[Option ID=30797] Question Description : general_paper_genarel paper_set 11_english_q25
2[Option ID=30798]
3[Option ID=30799]
4[Option ID=30800]
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"The death penalty in certain western countries has led to increase in crime rate leading to greater number of
inmates in their prisons. Therefore, death penalty is not justifiable”. Which fallacy 15 committed in the above

argument 7

1. False Cause
2. Slippery Slope
3. Red Herring
4. Straw Man
(1) 1
(2) 2
(3) 3
(4) 4




"B JIEH! 3 H HGUs F HURTY G H gl 83 § o9 BRU a6l &1 Sl J Biedl Bt W H gl 8
el ¢ | 30T JgaUs I 81 3 1" SURIEd giad § HIH-91 by g7

1. R
2. T aeged ear (ol wig)
3. 38 gl
4. 9T9-gq ad -2 (FTE)
@ 1
() 2
(3) 3
(@) 4

1[Option ID=30801] Question Description : general_paper_genarel paper_set 11_english_q26
2[Option ID=30802]
3[Option ID=30803]
4[Option ID=30804]
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If the statement - "All plants are green organisms” is given as false, then which of the following statements
could be immediately inferred to be true ?

A. No plants are green organisms

B. Some green organisms are plants

C. Some plants are green organisms

D. Some plants are not green organisms.

Choose the correct answer from the options given below :

1. A Only
2.Band C

3. Aand D Only
4. D Only

(1) 1

(2) 2

3) 3

(4) 4

afg oo - et i g offa 8 &1 o & w0 8 a3, 79 Fafafed fPu s sl s gn &
w0 H @id 9 ¥ AT fbar o 9ea 52

A. 15 Y grer sfva g el B
B. $© gid oifa Ud

c. YU ERa A gl

D. $© 4% gRd Siia el 5 |

14 fau e faeul H € 961 SR &1 90 SIfw:

1. Pad A
2. HIAB AR C
3.%ad A 3R D
4.PHadD
1
() 2
3) 3
(@) 4

1[Option ID=30805] Question Description : general_paper_genarel paper_set 11_english_q27
2[Option ID=30806]
3[Option ID=30807]
4[Option ID=30808]
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Which of the following statements are so related that they cannot both be true, although both may be false ?

A. All fungi are living beings

B. No fungi are living beings

C. Some fungi are living beings

D. Some fungi are not living beings

Choose the correct answer from the options given below :

1. Aand C Only
2. Cand D Only
3. Aand B Only
4. A and D Only
1)1
(2) 2
(3) 3
(@) 4
fofafad ¥ 9 oH-3 Y 59 YeR 96fid ¢ [ 9 SF1 U O I 81 81 9 d, 991 aFT S 8
JHd gl

A. i Fow T EId B

B. Bis i o Ioiig 76l T &1
C. T® HaP ol gId 5|

D. $8 $dd Hoild gl gld g |

< fed g famedl & € 9ad Sugad SR o1 909 BIfoT:
1. ®ad AR C

1[Option ID=30809] Question Description : general_paper_genarel paper_set 11_english_q28
2[Option ID=30810]
3[Option ID=30811]
4[Option ID=30812]
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Which of the following statements are logically equivalent 7

A No amphibians are mammals.

B. All non-mammals are non-amphibians.
C. All amphibians are non-mammals.

D. No mammals are amphibians.

Choose the correct answer from the options given below :

1. A Band C Only
2.A, Cand D Only
3.A,Band D Only
4. Aand D Only

1 1

(2) 2

3) 3

(4) 4




FrafafEd ®H-8 &y dildbs U 3 gad &

A FIg ff SUTRR, TR el €
B. Tiff IR-T R, TRSHT=R &1
c. g SHTR, R B

D. &5 H TR, IHTR el 2

4 feu T fawed § ¥ 9y SUgH SR BT I0T BT

1[Option ID=30813] Question Description : general_paper_genarel paper_set 11_english_q29
2[Option ID=30814]
3[Option ID=30815]
4[Option ID=30816]
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According to the classical Indian School of logic (Nyaya) in the process of inference (anumana). the reasoning

proceeds from :

1. Universal to particular only
2. Particular to universal only
3. Universals to Universals through particulars
4. Particulars to particulars through the universal
1)1
(2) 2
3) 3
(4) 4

< & YR NG 7d & SHR SHF &1 Alha 8, qdun g 4 fard av® aad! o

1. $9q IS T e B RB
2. %aq eredt J IrefEe $t RE
3. wreTdt & ATy ¥ UidEe ¥ 9dEe @f (e
4. GrdfEe ATEH 9 fwendt § el Bl R
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30817] Question Description : general_paper_genarel paper_set 11_english_q30
2[Option ID=30818]
3[Option ID=30819]
4[Option ID=30820]
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A digital camera containg a microproeessor . The camera's specification includes :

- 20 megapixel resolution

- 32 gigabyte memory card

- autofocus facility

If a compressed image file requires an average of 1 byte per pixel, then what is the maximum number of
photos that can be stored on the memory card ? ( 1 Kilo = 1024)




@ fSfored 371 1 e ARSIvR 81 59 oW & fafeem (wffrewr) o afffea §:

Ife UF SRS 3HY BIEd & (o1g Wid fUaTd SN 1 15 3a=a® g di 3+ Bl (fodl) @ Sifddhan
T o €, o ARt e W WSTiRa faar o gwar 82 (1 fare = 1024)

1. 1638
2. 819
3.4009
4. 732
1)1
(2) 2
3) 3
(4) 4

1[Option ID=30821] Question Description : general_paper_genarel paper_set 11_english_q31
2[Option ID=30822]
3[Option ID=30823]
4[Option ID=30824]
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Which of the following statements about Bluetooth connectively are TRUE ?

A Bluetooth will only work over long distances.

B. No wires are needed when exchanging files via Bluetooth.

C. Bluetooth allows you to speak hands-free on a Mobile phone.

D. Music can be played wirelessly from your Mobile phone to a speaker using Bluetooth.
E. Transfer speeds when sending files are faster than using Wi-Fi.

Choose the correct answer from the options given below :

1. Aand E Only
2. A Band C Only
3.C,D, E Only
4, B, C and D Only
1) 1
(2) 2
3) 3
4) 4

fAaffad & 9 o1H-3 Ty sy PAfeeiad]  aR § WEl T

A. &gy had adl gRUI IR & S

B. &g ¢y & HIH I WISl B SGH-USH HRd FHY fhdl Hi IR &1 awgedl Te! sl

C. Sy TP &1 87 T Y& HiaTed BH W sia &dl 6|

D. 319% Hiagd BH 4 871 IR & &gy B1 39a0 H U W= IR WHid goir] & Hahdl g
E. B1gd Hoid 9HY als-1s & SUART &1 ga-l § Siavul &1 1fd diga? gidl g

=i faU U fadhetl & ¥ el 3R BT 99 Bifolt:

1. A ARE
2. BT A, B IR C
3.%dd C,D AR E
4. %adB,C ARD

1

) 2

@) 3

(4) 4

1[Option ID=30825] Question Description : general_paper_genarel paper_set 11_english_q32
2[Option ID=30826]
3[Option ID=30827]
4[Option ID=30828]
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Given below are two statements based on generic file type that can be opened in an appropriate software on
most platforms :

Statement I : A file saved in portable document format (.pdf) is a generic text file.

Statement IT : Moving Pictures experts group layer 4 (.mp4) is an example of generic image file format.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1)1

) 2

3) 3

(4) 4

9 & Py ey e &

SN H1gd 2154 & YR TR o SIS QehiRl IR Udh IUdd d19edaR 1 @idl off 9 g
FUA 1 ; TIcac SIFHT BIUC (.pdf) T TRIEM BT TTg U Bled [P SHRS e Bled &

FYA 11 : {31 U= TaUeH J9 TOR-4 (.mpd) THND S0 BIsd BiHE &1 UF 360 g
IWRIFd HUF & 3fdi H, =i fey T4 faeeed & @ el Ik $1 99 DT

P ARISAI 9§ |

HYF IR EH] 3T © |
BT S, AT HYT I T ¢ |
PUT T, AT PU I TAE |
(1) 1

) 2

(3) 3

4) 4

da Lo D =

1[Option ID=30829] Question Description : general_paper_genarel paper_set 11_english_q33
2[Option ID=30830]
3[Option ID=30831]
4[Option ID=30832]
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Which one of the following acronyms matches incorrectly with its full form ?

1. USB - Universal Serial Bus

2. RFID - Radio Frequency Infrared Device
3. CRT - Cathode Ray Tube

4, JPEG - Joint Photographic Expert Group

1) 1

(2) 2

(3) 3

(4) 4

fFafRad o § -3 aRkaul Te3 39% 9 3 7Tad o § Ak o2
1.4 ugdl - Tiga 99

2. ARUE.3M5. 2l - AUl Wil sIhRs fearsy
3. WoR A - FUSITE
4. S E Sl - Fise BicHhbe THRIE ga

@1

@ 2

@ 3

@ 4

1[Option ID=30833] Question Description : general_paper_genarel paper_set 11_english_q34
2[Option ID=30834]
3[Option ID=30835]
4[Option ID=30836]
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Identify the correct ascending order of the following list of stages A-E when text, written in magnetisable ink,
is passed over a Magnetic Ink Character Reader (MICR).

A. As each character passes over the head, it produces a unique waveform.
B. Characters are then passed over the MICR read head.

C. Ink on the paper is first magnetised.

D. MICR text is paased over an MICR reader.

E. The waveform is recognised by the computer system.

Choose the correct answer from the options given below :

C.D,B.A,E

(S

.D,CB.A,E
.B.D.C.A.E
.A,C.B.E,D

el

1)1
(2) 2
(3) 3
(4) 4

Oq DIl - UG Wil H [ARad U8 &1 U o 10 Wil &R 96 (HUCH b higex Ie)
(TH.HR.3MR.) TR [ER] 911 € ol FEfkied A-E & IRl &1 I3 & T2 SRS HH & ged Sifa|

A. O TP $HeR Y & IR ¥ T[Rdl & dl 96 UD [AR1F a9 =4 3d Rl o
B. a{&?fa?r@ ern?\fﬁfam’ Wﬁﬂﬁwwwa

C. @I'IUTWHdHWMIﬁ[W@WQJI@d fd’JQIGﬁT‘fT%I

D. TH. 3T H1.3R. U168 &I TH. 315, 31, 3R, T6d TR T[oIRT oTdl 5|

E. PR R o871 9 &1 UgaH o_al o

i feu e famedl H 9 T8l 3R &1 994 SBIlg:

1[Option ID=30837] Question Description : general_paper_genarel paper_set 11_english_q35
2[Option ID=30838]
3[Option ID=30839]
4[Option ID=30840]
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Which of the following decades is known as United Nations Decade of Biodiversity ?

. 1991-2000
.2001-2010
.2011-2020
.2021-2030
1)1
(2) 2
3) 3
4) 4

e & & o o &1 Wgad Y & 1d fafdedT axe & 0 § S 9T 82

B S

. 1991-2000
.2001-2010
.2011-2020
.2021-2030
1)1
(2) 2
3) 3
(4) 4

R

1[Option ID=30841] Question Description : general_paper_genarel paper_set 11_english_q36
2[Option ID=30842]
3[Option ID=30843]
4[Option ID=30844]
|
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Given below are two statements :
Statement I : Negative feedback effects tend to inerease the magnitude of climate change.

Statement IT : Positive feedback effects tend to reduce the magnitude of climate change.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

(1)1
) 2
(3) 3
(4) 4

ATy Ry E:

FYA [ : TPRIAS WGP TUIT Serar] IRad- &1 A1 B 9 $i 3R Haw eidl ¢
FUF 11 : THRIAS FAYfP WHTd STerarg uikad & A6 & ueH &t SR yga giar o
SWRIG HUH & 3HTelip |, i 3T T fabedl & O Tad SUga] SR D1 99 DIT:

1. U AR I SH Tel 6 |
2. BYFI ARSI A & |
3. HYT I el 8, AP YT 1 Tad © |
4. DY S, AT PUT I TSI & |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30845] Question Description : general_paper_genarel paper_set 11_english_q37
2[Option ID=30846]
3[Option ID=30847]
4[Option ID=30848]
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Adding organic materials, such as sewage or paper pulp, to water stimulates consumption of which chemical
by decomposers.

. Carbon dioxide
. Oxygen

. Salts

. Minerals

1) 1
(2) 2
(3) 3
(4) 4

g&gﬁﬁg@%ﬁﬁﬁﬁ%%ﬁ%ﬁ@mﬁmﬁaﬁ@mwﬁw

e L b2

1. BIe- SEAEES

2. 3G

3. @au

4. @S

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30849] Question Description : general_paper_genarel paper_set 11_english_q38
2[Option ID=30850]

3[Option ID=30851]
4[Option ID=30852]
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Given below are two statements :
Statement I : Flat plate collectors are example of simplest and most economic solar collectors.

Statement IT : Some of the solar concentrating collectors essentially use flat plate collectors.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II 1s false.
4. Statement I is false but Statement II is true.

1) 1
(2) 2
3) 3
(4) 4

ATy Ry E:

P : TRIC WC Haodes, UR Paides] & Jaiived Td R Haive Haead! Iae0 gl
DY 11 : BT IR B Peige A K Qi Heides] BT I d 6
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L PUHEIAR IS 9T |
2. HYF 1 AR I SHT ST E |
3. FYT I II 8. AP HUT 1 T ¢ |
4. PUFIITT e, AT YT I TA T |
(1) 1
() 2
(3) 3
(4) 4

1[Option ID=30853] Question Description : general_paper_genarel paper_set 11_english_q39
2[Option ID=30854]
3[Option ID=30855]
4[Option ID=30856]
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Which one of the following air pollutants has a very strong affinity towards haemoglobin (Hb) of blood ?

1. Carbon dioxide (CO,)
2. Carbon monoxide (CO)
3. Sulphur dioxide (S0O,)
4. Nitrogen dioxide (NO,)

(1) 1

(2) 2

(3) 3

(4) 4

FRfciRad H A P11 Ugue &1 X5 @1 =[eR aivieT (g=e) o 9l saitie syl gidl 2

1. BIEH ST3 FIES (CO>)

2. Bla- AHIRIES (CO)
3. PR 315 HHEIES (S0,)
4. 12CIGH 12 TFIES (NO,)
™1
2 2
3) 3
(4) 4

1[Option ID=30857] Question Description : general_paper_genarel paper_set 11_english_q40
2[Option ID=30858]
3[Option ID=30859]
4[Option ID=30860]
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Takshashila is an important archacological site and UNESCO declared it to a world Heritage Site in the year

1. 1980
2.1990
3.1992
4.1978
(1)1
(2) 2
(3) 3
(4) 4

&I U He@qul QRIAIa® e 8 SR g-%p! A 54 fovg o § U fay exies e a1t fasar am

. 1980
. 1990
. 1982
. 1978
(1) 1
) 2
(3) 3
(4) 4

B e

1[Option ID=30861] Question Description : general_paper_genarel paper_set 11_english_q41
2[Option ID=30862]
3[Option ID=30863]
4[Option ID=30864]
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Who among the following founded the Imperial Library which he wanted to see as a Future Bodleian Library
or a British Museum of the East ?

1. Lord Curzon
2. Lord Canning
3. Charles Wood
4, Lord Mount baton
(1)1
(2) 2
(3) 3
(4) 4

Fafaa o ¥ feee sriifad agskl &1 1 @1 o, o] 98 Ue Wbl aTsirg= argsii 41 9d & Uh
fofew Sugeg & =9 § <1 9gd 42

1. (S Hod
2. 1S P
3.9 IS
4. 9IS Ordeded
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30865] Question Description : general_paper_genarel paper_set 11_english_q42
2[Option ID=30866]

3[Option ID=30867]
4[Option ID=30868]
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IGNOU hosts secretariats of the SAARC consortium on open and distance learning (SACODIL) and the
Global Mega Universities Network (GMUNET), initially supported by :

1. UNDP
2. UNESCO
3. UNHCR
4, UNICEF
(1) 1
) 2
(3) 3
(4) 4
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(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=30869] Question Description : general_paper_genarel paper_set 11_english_q43
2[Option ID=30870]

3[Option ID=30871]
4[Option ID=30872]
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What is the full form of 'SAMVAY" ?

1. Skill Achievement Matrix for vocational Assessment of Young
2. State Authority Ministry for Veterinary Achievement of Youth
3. Skill Assessment Matrix for Vocational Advancement of Youth
4. State Analysis Maintenance for various Analysis of Young

(1) 1

(2) 2

(3) 3

(4) 4

'SAMVAY' (TH.U.UH.41.d78.) &1 931 15 &1 52
1. [ora srfiate Bfcsg BR dipTa srgde 3w g1
2. ®e SR A Bk defad sefiade sifp gy
3. a sigHe Oftay BR aioR-d Usarade i gy
4. We ARy He-9 Bk dRgy gl siis a7
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=30873] Question Description : general_paper_genarel paper_set 11_english_q44
2[Option ID=30874]
3[Option ID=30875]
4[Option ID=30876]
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Given below are two statements :

Statement I : As per NEP-2020, National Research Foundation (NRF) will constitute a National Committee
for the Integration of Vocational Education (NCIVE).

Statement IT : As per NEP-2020, Model Public Universities for holistic and multidisciplinary education, at
par with IITs, IIMs, called MERUS (Multidisciplinary Education and Research Universities) will be set up to
attain the highest global standards in quality education

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both statement I and Statement II are incorrect.
3. Statement I is Correct but Statement II is incorrect.
4. Statement I is incorrect but Statement IT is correct.
(1) 1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30877] Question Description : general_paper_genarel paper_set 11_english_q45
2[Option ID=30878]
3[Option ID=30879]
4[Option ID=30880]
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decizion to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convineing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Historical evidence suggests that the frequency of conflicts between liberal and non-liberal
states is low.

Reason R : In liberal states, the decision to go to war is taken by the people, rather than by the monarch.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
. Ais correct but R is not correct.

. A is not correct but R is correct.

(1) 1

@) 2

3) 3

4) 4

1 3 U= U T §: U 1Y (Assertion A) & =0 H [AREd § dl GERT 39 PRI (Reason R) &
F9H,

YA A : UTRTRIS H1&0 U8 §ald ¢ b 3&R SR SHER IA| & a1 U9y &1 IRIERA $H g
BRUIR : IGR A B, TG DA DI H0M ST Al &, 7 & DIg el
SIS HUH & 3HTelid H, i 34U T faebedl & I Gad SUga SR B 99 DIioU|

A 3R RS T8l € 3R R, ADI el TRAT R

A 3R R S €. AT R, A T 9 sarm TET B
. AEl g ftT R BT TRl B
AR g AP R TR T

1

) 2

3) 3

(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decizion to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convineing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

fAafciRad e &1 ufed 3k Uy &1 S diied |

®ic & 3H GId Bl 1980 & G H YAsifidd fbar a1 forddy 3IHR SGR Ao U 3RS Fral H 30 3aR
TS o WY ol 81 1 U Sg-Sid okd H AR ST U8 0 &4 § 1o SR Ioa A U G AT T Jor
fha1 31 STA & SYR Bic B [ & &1 dcd - IaR Il H AT 3R SER-IG] & 1Y Gra H
SRS e | Tefll Sy asT H1ed diddifad Aifd SaeRuN &1 §HH HRd gU Udid gld 8, 39 dd 31
irait TR 4t & &1 Heedqul & | UuHd: ol 59 RIsid & Idled g4 & g, 39 @uRon 7 fayr & arall & 39
1 DT WFIHIV] oAl SaAD § 1 SaR Al & d§id J ol 3T/ 3= g1 71 g | Hic 4 I8 aob fadn ol {6 afg
-G 1 07 ASTH AR & Fol1g Sl gRT ferdl Sl o Y9uT &1 SRR 9gd gl d4 gl Skl i difhd &4
ﬁsﬂ%éﬁa{ﬁ 3GR 3R 3HER A4 & did daf pi SRR (8RR g1 1 8. <A Ufdgiibd wed 29 [quild
I 'l

Al AT TR & (e1U U dabicdd WPIHIU a8 Ui gl Tl ¢ [ IaR 50 Y5 gid € 3IR HeaadR
SHfeTERaTel Tl ST Jo T H g H W g ¥ 3 oy B A 31R g1 SU1aT g &l Jrd1a gicll 8 | Toiddk:
WE?WW%W_.:-WM%%WMﬁmmw%ﬁm@aﬁqﬁwr@ﬁrﬁ
gt |

Identify the inferences that you can draw after reading the passage.

A. Frequency of conflicts among the liberal states is low.
B. Frequency of conflicts between liberal and non-liberal states is low.
C. Liberal states are generally rich.

Choose the correct answer from the options given below :

1. Aand B Only
2. B and C Only
A and C Only
A BandC

S Y

(1)1
) 2
(3) 3
(4) 4

TR &1 Ue- & a18 g 9 & ¥ $19.-1 ey g ged 82

A. SER TG H T 3 IRERAT $H ¢
B. 9aR 3R ER I & 814 9y & TRIERA &Y |
C. 3R T HT: U1

1 feu e fao el § § 9o Sugad SR P 997 I

1. $ad A R B
2. HAAB AR C
3. PaTASMRC
4 A B3RC

1 1

) 2

@3) 3

@) 4
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3[Option ID=30887]
4[Option ID=30888]
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decizion to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically, this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convineing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FRfIRad T &I Ufed 3R U &1 R alied |

Hic b 5H aTd Bl 1980 P WP H TGiTad fbdr T forgeh HHR IGR Iy 30 3P Gl H 30 3R
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fha1 31 STd & YR Bic B [aHd & &l dd - IR ATl H IEHIH 3R IR & H1Y Graf o
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Liberal states have very little to gain and much to lose by going to war.

Reason R : Liberal states are generally wealthy.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.
Both A and R are correct but R is NOT the correct explanation of A.
A is correct but R iz not correct.

A is not correct but R is correct.

O

1)1
(2) 2
(3) 3
(4) 4

=19 3 FY AU 7T §: TP MTUSHYT (Assertion A) & =0 H [ 8 Tl GERT 39D PRUI (Reason R) &
=0T,

AU A : & B 9 IER AT B 1 1 95 HH AR 1M B 954 A2 Fu1a-1 gl g
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3) 3
(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convineing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

RfcIRAd Tl &I Ui 3R Uy &1 3R alie |
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What can be said about the liberal states after reading the passage ?

A. Liberal states tend to maintain peace with all other states.

B. Liberal states tend to maintain peace with other liberal states.
C. Liberal states tend to be wealthy.

D. Decision to go to war is taken democratically in liberal states.

Choose the correct answer from the options given below :

1. A, Band C Only
2.B.Cand D Only
3.A,Cand D Only
4, AB.CandD

) 1

(2) 2

3) 3

4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and meore to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convineing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

fafciRad e &1 ufed 3k Uy &1 S diivd |
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st & Ty il g §1 U 98-S d ok H AR dhd S/ I8 a9 &d ¢ 1 3aR sl I Uh G M= Bl Yoi
fh a1 B 1 SIS & TR Bic B [ad & &1 dcd - IaR ATl H AT 3R IGR-I] b Ty G H
SR Feia | Tt Sy Wied Aiddiad i HauRoT &7 §HH SRd U T 8id 8. 39 99 3
Tireit TR 47t <2 341 Headyul &1 Wk ol 39 RIsT & Adled gH & U, 39 (@R # {34 &7 ardl & 39
S DT WFIH] <l 3TaLD g fob FaR Al & ofid gog ol 3R/ 3ifd=med g1 11 g | dic 4 98 ddb fagn o1 {6 afg
E-UART D1 (U ISHUR & SoI1d Sl gRT e SiTdl o G9uf &1 aRERd 9gd ol gl ol | didH difhed &4
ﬁsﬂa;i%éﬁ&rtf 3GR 3R SGR IAA| & oI Yoy i aRERAT HHAR gl Hi g, did UdgTiad d1ed g8 [quid
s |

Al diEd A SAYRUN & 01U U ddbicdd WGV Ug Ui g1 Uddl ¢ [ 3aR 50 Y55 gld © 3R HEFaR
ST are] oAl B o H Zeg H AETed gH U 975 ol HH 1R g1 Sa1a1 iH B YRIa Bl § | Jrad:
ﬂaﬁﬂg?ln‘jagmlcu[qm WHIHIU1 g WA de g fb SR AUsal H 3 ISR Il & g1y HAq0] Grary 3@ o
EEIREGNIN

Given below are two statements :

Statement I : There exists international wisdom when it comes to relations with non-liberal states.

Statement II : Liberal states tend to maintain enmity with other liberal states,
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both statement I and Statement II are incorrect.

3. Statement I is Correct but Statement II 1s incorrect.
4, Statement I is incorrect but Statement II is correct.




1) 1
(2) 2
(3) 3
(4) 4
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(2) 2
(3) 3
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1[Option ID=30897] Question Description : general_paper_genarel paper_set 11_english_q50
2[Option ID=30898]
3[Option ID=30899]
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Paper II : 63-Mass Communication and Journalism

Sl. No.1
QBID:163001

Verbal code for communication is :

1. Colour

2. Picture

3. Language

4. None of the above

(4) 4

IR & oy Afsgd B g -

L]
2. T
3. HIY[
4. AN Y BTe A1
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=30901] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q1

2[Option ID=30902]
3[Option ID=30903]
4[Option ID=30904]
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First news paper which was printed in Indian language :

. Kesari

. Samachar Sudhavarshan
. Digdarshan

. Bengal Guzette

1) 1

) 2

(3) 3

(4) 4

R




YR U1l H SU- 9Tl Ugdl THRER UF 61 91 1 2

1. HEd
2. GHMER GHEyoT
3. fereei
4. ST TTefe
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30905] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q2

2[Option ID=30906]
3[Option ID=30907]
4[Option ID=30908]
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is a brief and catchy piece of music, composed to advertise a product or to identify a station or a presenter.

. Karaoke

. Joystick

. Jingle

. Melodrama

J L BD

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30909] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q3
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‘Who is the father of the mathematical theory of communication?

. Marshall Mcluhan

. Wilbar Schramm

. Shannon and Weaver
. Ossgod

(1)1

(2) 2

3) 3

(4) 4
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3) 3
(4) 4

1[Option ID=30913] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q4
2[Option ID=30914]
3[Option ID=30915]
4[Option ID=30916]
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Traditional Media have fallen in disuse, how would we revive their old glory ?

1. Forcibly teaching music and dance to little children so that they develop a habit to consume such media.
2. Use digital and social media to execute a pull strategy with the USP of our old cultural values and ethics.
3. Use academic curricula in educational institutions, that essentially include the study of such media.

4. None of the above

(1) 1

2) 2

(3) 3

a) a

TRURNTA HIfST1 BT YA d¢ B fea1 71 3, §H I7ds 7R bl UH: Hd R 6 Ydbdl g 2

1. B¢ gl IR Gd1d S 38 Hild Ud 9 =i & g 1 f59e b d 39 UhR 31 difsar & ufd saitd g
DI 3f1ad fasiad e
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1[Option ID=30917] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q5
2[Option ID=30918]
3[Option ID=30919]
4[Option ID=30920]
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Which approach is most appropriate to develop an advertisement for the development of a communication campaign in rural
areas ?

. Different approach

. Participatory approach

. Non-participatory approach
. None of the above

1) 1

(2) 2

3) 3

4) 4
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1) 1

(2) 2

3) 3

(4) 4
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Goal Number 16 of Sustainable Development Goals (SDG) is based on:

1. Participation for all goals

2. Peace, justice and strong Institutions
3. Life in water

4. Life on Earth

1

(2) 2

3) 3

(4) 4

Ydd f[dD1Y ded (sDG) H 16 T&AT 16 ¥ Tg TR 3{1e1Rd g

.+t dedt & ferg g e
. 9iif. =9 Ud Oelgd 9
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(1) 1

(2) 2

(3) 3

4) 4

L e R

1[Option ID=30925] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q7
2[Option ID=30926]
3[Option ID=30927]
4[Option ID=30928]

Sl. No.8
QBID:163008

*“Resource Mobilization theory has been considered as a good starting point for the interpretation of utility and Impact of
social media technologies in social movements™. This statement is related to which of the following?

1. Boodly, Limproos and Oliver
2. Wireman and Forst
3. Eltantvi and Veest
4. Fuug, Gilman and Shakabtur
(1) 1
(2) 2
(3) 3
(4) 4

“QIATSI Sficier! H Fieref HIfgdT deb-iic! &1 SUTIIAT IR THId BT oReal 3 & forg Raid Aifderg o figid
DI U 351 YTl T THT 71 5 17 T8 DY [hay Tafed g -

1. g3cll, foRIY ud Sifear
2. IRHA 3R BIE
3. Uediddl 3R di%e
4. BT, TH 3R YbTER
(1) 1
) 2
(3) 3
(4) 4
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3[Option ID=30931]
4[Option ID=30932]
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A news paper ‘Mirat-ul-Akhbar’ was introduced by Raja Ram Mohan Roy in which language ?

. English
. Bengali
. Persian
. Hindi
(1) 1

(2) 2

3) 3

(4) 4
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(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=30933] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q9
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3[Option ID=30935]
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‘Which year the Government of India had approved the policy for licencing to establish Community Radio Station (CRS) in
Educational Institute of the country?

. 2000
. 2001
. 2002
. 2004
(1) 1
(2) 2
3) 3
(4) 4

YRA INBR A X & el T=IF! H SR ST W R (I68) B & (A8 AU o B A1 @l Aol
CEEAR,

R

. 2000
2001
2002
. 2004
(1) 1
(2) 2
(3) 3
(4) 4
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Which of the following elements creates news?

. Time limit

. Prominency

. Closeness

. All of the above
1)1

(2) 2

(3) 3

(4) 4
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Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q11
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Emoji is :

1 1
(2) 2
(3) 3
(4) 4

FUIEIEES

1. Big images use in digital platform

2. Little images use in digital platform

3. Text and images use in digital platform
4. None of the above

T&fored v (wiewr) o ugdd g arcll 991 8iddf|

L R e

I

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=30945]
2[Option ID=30946]

3[Option ID=30947]
4[Option ID=30948]

Tefored v (wiewi) H ugdd gi- arcl a0y STdR Sidd|
TSfSTea et o wrged g1 ard 31eR Td sfadi|
. SWRIad H Y BIs del

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q12

Sl. No.13
QBID:163013

R

(1) 1
) 2
(3) 3
(4) 4

Broadcasting of ‘Swaraj’ serial began from :

. 14 August 2022
. 15 August 2022
. 25 August 2022
. 26 August 2022

B S R

1) 1
) 2
(3) 3
(4) 4
1[Option ID=30949]
2[Option ID=30950]

3[Option ID=30951]
4[Option ID=30952]

. 14 AHT¥d 2022
.15 3IXd 2022
. 25 3T 2022
.26 ¥ 2022

RIS YRTETgD DI TYRU 6d U YR 31 2

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q13

Sl. No.14
QBID:163014

. 1841
. 1851
. 1861
. 1871

R R

What was the foundation year of the Reuters news agency?




1) 1
(2) 2
(3) 3
(4) 4

T ol Toldl &1 101 6d gs &1 2

. 1841
. 1851
. 1861
. 1871
1) 1
(2) 2
3) 3
4) 4

N O

1[Option ID=30953] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q14
2[Option ID=30954]
3[Option ID=30955]
4[Option ID=30956]

Sl. No.15
QBID:163015

A device for preventing loud audio from exceeding the system’s upper limit, by progressively reducing amplification for
louder sounds is called :

. Neutral density filter
. Fader

. Limiter

. Audio filter

(1)1

(2) 2

(3) 3

(4) 4

Siftiep Gl waf1gl & Hely # Uraef 1 it $71 H A B gY ReH (@re)) &f 3= WA ¥ 31 S %o (cfla af)
Bl - aTel T sl SUH & Hgl Al © -

T N w A o

s

1. Acd ol [Wwedd
2,
3. fafireR
4. 3T fheey
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=30957] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q15

2[Option ID=30958]
3[Option ID=30959]
4[Option ID=30960]

Sl. No.16
QBID:163016

The New World Information and Communication Order (NWICO) which has been mentioned in the clauses of the
International Principles of Professional Ethics in Journalism lays stress on :

. The need to set up news agencies like the NANAP and CANA.

. Respect for the people of underpriviledged classes of the west.

. The need for decelonisation and democratization of Information and Communication.
. None of these.

(1) 1

(2) 2

(3) 3

(4) 4

R




& g I SR UUS SRS IS (T Sy 3113 4l 3l o U1l H U=raR Afdedl & SIagiyg Rgidl
& Wl 1 SfceiRgd fobar a1 g, a8 Fdifdd [y W ad adig 2

1. NANAP Ud CANA SI¥ GHRR TSifal &1 RAUT HR &1 ATl
2. UTH & AYfaeT ured 97 & |l o ferg wwr|
3. Y1 Ud HUYUT & [d3{TTaRITHR01 Ud iAol Bl SAIaRgdhd |

4. 3TH Y PIs el

(1)1
) 2
(3) 3
(4) 4

1[Option ID=30961] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q16
2[Option ID=30962]
3[Option ID=30963]
4[Option ID=30964]

Sl. No.17
QBID:163017

A Metaphoric abstraction for the online world of computer network, especially the Internet is :

1. Cyber Space
2. Cyber Security
3. Cyber booting
4. Cybernatics

(1) 1

(2) 2

3) 3

(4) 4

B Hedd, QAU Y - &I HI-cIZ g1 g U &t dfam g -

1. g3k g
2. ISR R
3. gIgeR §fcT
4. g Hfeqq

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30965] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q17
2[Option ID=30966]
3[Option ID=30967]
4[Option ID=30968]

Sl. No.18
QBID:163018

Which type of advertising is “Point of Sale™?

. Mobile Advertising

. Transport Advertising

. Direct Advertising

. Window Display Advertising
1 1

(2) 2

3) 3

(4) 4

“grge 3 Y [9FUH B S T UBR ¢ 2

RCIESACRINE!

. giRagH (2 1) fama-
.Uy fagmg=

ITare (fdsT) e fasim=
1) 1

(2) 2

(3) 3

B R

B e




(4) 4

1[Option ID=30969]
2[Option ID=30970]
3[Option ID=30971]
4[Option ID=30972]

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q18

Sl. No.19
QBID:163019

1 1
(2) 2
(3) 3
(4) 4

. Aeafd @

RS R S

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=30973]
2[Option ID=30974]

3[Option ID=30975]
4[Option ID=30976]

Variables are events between the treatment and the post-test measurement that might affect the outcomes :
. Background variable
. Intervening variables

1
2
3. Extraneous variable
4. Alternative variable

TR G Ud ITR-URI&U AU & Held &1 9e-TU g ol fob URUITHI &l WHITdd &) Uddl 6. 96 ©
1. gRYT (SHUS3) R

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q19

Sl. No.20
QBID:163020

B R

1) 1
(2) 2
3) 3
(4) 4

The problem of ‘Research Ethics’ is concerned with which aspect of research activities ?

. Defining of population of research.

. Evidence based research reporting.

. Prescribed format of a thesis.

. Data analysis through qualitative or quantitative techniques.

Y = B gEe MY & fhy fhar & ugq ¥ YdiUd g 2

9N Y Ya e SHEEHT ST IR AT
. re 3T =ne Ruifd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30977]
2[Option ID=30978]

3[Option ID=30979]
4[Option ID=30980]

1
3. S1e T % foe PR T
4. TUIEITIR® 34al URHUTHD Uidfed! & Arend ¥ sidbs! [dRayo

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q20

Sl. No.21
QBID:163021

Which approach is taken into account while selecting research problem in a research ?

1. Researcher’s approach
2. Researcher’s interest
3. Social relevance

4. Financial availability




1) 1
(2) 2
(3) 3
(4) 4

Y H Y IA] & I499 3 97 (5 P10 &l M H 31 Sl g |

1. 2nerdf &1 efPaiu
PR ICIGARIE
3. grHTSIE Ul

4. fa<iia Sucsyd
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30981] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q21

2[Option ID=30982]
3[Option ID=30983]
4[Option ID=30984]

Sl. No.22
QBID:163022

Fundamental Rights are given in

. Indian Penal Code

. Constitution of India
. Mumbai Police Act

. All of above

(1) 1

2) 2

(3) 3

(4) 4

Hiferd MfYHR FyicRad fHuH Ued [Pu U g 2

1. YR qUs Ifgdr |
HRd & gidy= H

TS, gfery iferfe (Uae) |
. SWRIgd gy |

1) 1

(2) 2

(3) 3

4) 4

B O

R S R S

1[Option ID=30985] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q22
2[Option ID=30986]
3[Option ID=30987]
4[Option ID=30988]

Sl. No.23
QBID:163023

‘Randanka’, *Chingari®, “Hunkar’, “Toofan’ are the name of those letters which had given important contribution by their
own content in Indias heart by providing vigour to the people for independence. These letters were :

. Professional letter

. Private (Individual) letter
. Undeground letter

. None of the above

(1) 1

(2) 2

(3) 3

(4) 4

R




ROEHT, TR, R, TBM" 311G 3 W & 11 g (S5l 20+ fava arefl & gR1 YR oid 49 & ged d
Hddl WK & U IS B YaTg @3- § Agaqul araH f&an 3 gy o 2 -

. YIS U
RCEIRF

; ud
SAH A PIS Al
(1) 1

(2) 2

(3) 3

(4) 4

1
2
3
4

1[Option ID=30989] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q23
2[Option ID=30990]
3[Option ID=30991]
4[Option ID=30992]

Sl. No.24
QBID:163024

Which of the function of Public Relations is not included ?

. Press Release

. Press Tour

. News Reporting
. Press Contact
1)1

(2) 2

(3) 3

(4) 4

SHUUD & w1l H b A 9ol f[har S g 2

O

1[Option ID=30993] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q24
2[Option ID=30994]
3[Option ID=30995]
4[Option ID=30996]

Sl. No.25
QBID:163025

First online newspaper of Hindi is :

. Navbharat Times
. Hindustan

. Dainik Jagran

. Nai Duniya

(1) 1

(2) 2

(3) 3

(4) 4

fEe! &1 Ugdl SR YRR UF ¢ —

R

1. GHRd 3R
fegsH
. ¢fFe SR
s g

) 1
() 2
3) 3
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(4) 4

1[Option ID=30997] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q25
2[Option ID=30998]
3[Option ID=30999]
4[Option ID=31000]

Sl. No.26
QBID:163026

Lens which is thin at center and thick at edges is

. Convex lens

. Biconvex lens
.Both (1) and (2)
. Concave lense
(1) 1

(2) 2

(3) 3

4) a

oY (qUun) Sl s (Fe) H Ul Ud fb-IRI IR A1 B1d €, 9 Pe Wi § -

1. 39d < (U

. IHIETd o (U
CTH (1) T (2)

. 3fddd oy (guun
(1) 1

(2) 2

(3) 3

4) 4

I O
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1[Option ID=31001] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q26
2[Option ID=31002]
3[Option ID=31003]
4[Option ID=31004]

Sl. No.27
QBID:163027

Which of these organizations released Central Government's Ads?

1.PIB

2. ABC
3. DAVP
4. Enforcement Directorate

(4) 4

fifrd ®§ ¥ S H-97 97167 HRD RHR I Sdfed faqma=i & SR dar g 2

1. Ot g &
2. U
3. 8rudidt
4. UgcH fHgzme™
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31005] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q27
2[Option ID=31006]
3[Option ID=31007]
4[Option ID=31008]

Sl. No.28
QBID:163028

Which of these streams has been mentioned in the Court’s contempt?

. Section 2 of 1971
. Section 5 of 1985
. Section 23 of 1898
. Section 95 of 1973

R




(1) 1
(2) 2
(3) 3
(4) 4

FafeRad & 9 SH-U AR ™™ &1 HTAFAT | 2ifcafad § |

1. 1971 B YRI 2
. 1985 B YRT 5
. 1898 DI YRT 23
1973 DT YRT 95

LS o]

=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31009] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q28
2[Option ID=31010]

3[Option ID=31011]
4[Option ID=31012]

Sl. No.29
QBID:163029

Who is considered as a father of the Public Interest litigation in India ?

. Justice Altmas Kabir
. Justice H.L. Dattu

. Justice R.C. Lohta

. Justice P.N. Bhagwati
(1)1

(2) 2

(3) 3

(4) 4

YRd H SHigd gifddl & SHd &I JH Sl g 2

1. Tefier 3edH Y BheR
2. A TEUd. &
3, Tefier 3R, 1. digar

B O

1[Option ID=31013] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q29
2[Option ID=31014]
3[Option ID=31015]
4[Option ID=31016]

Sl. No.30
QBID:163030

Mark Zuckerberg launched first Facebook live broadcast in

. August 2015

. December 2015
. April 2016
.July 2016

1) 1

(2) 2

3) 3

(4) 4

Al hrat| 4 Hd YT IR bhydd Hoild YR (1S4 SIShI%) DI Lo Pl -

B

1. 3 2015
faurR 2015
30d 2016
S[elS 2016
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31017] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q30
2[Option ID=31018]

3[Option ID=31019]
4[Option ID=31020]

Sl. No.31
QBID:163031

NBC in New York city established the first regular TV broadcasts in United States in the year :

1. 1936
2. 1939
3. 1945
4. 1959
1) 1
) 2
(3) 3
(4) 4

fohd o & T 5T HURST & a1 e H U o W gR1 Uy FHafid didl UHR &1 R $1 718 2

. 1936
. 1939
. 1945
. 1959
(1)1
) 2
(3) 3
(4) 4

o S

1[Option ID=31021] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q31
2[Option ID=31022]
3[Option ID=31023]
4[Option ID=31024]

Sl. No.32
QBID:163032

Full form of G.PS. is :

. General Packet System

. Global Positioning System

. Gold Positioning System

. Gaming Positioning System
(1) 1

(2) 2

3) 3

(4) 4

SO T, ST RIAM R g 2

R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31025] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q32
2[Option ID=31026]

3[Option ID=31027]
4[Option ID=31028]

Sl. No.33
QBID:163033




Who coined term ‘cyberspace’?

. Michael Eisner
. William Gibson
. G. Dominik

. Lehaman Hilzig
1) 1

2) 2

3) 3

(4) 4

R W Yeg, di To] [ha B 2

R EFINIIEL SR

. faferay firegq
St gifaf®

. gHM fgator

(1) 1
(2) 2
(3) 3
(4) 4

R
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1[Option ID=31029] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q33
2[Option ID=31030]
3[Option ID=31031]
4[Option ID=31032]

Sl. No.34
QBID:163034

Human ear is most sensitive to noise in the frequency range :

1. 100 -500 Hz
2.20—-20KHz
3.13-16 KHz
4.10—- 12 KHz

(1)1

(2) 2

3) 3

(4) 4

TMHd & B FHifhd [H9 IS (R1Y) d6 & 29 T IR & Ul aifte dde-12iid gid 82

. 100 - 500 §oo

.20 - 20 fhdlged
13 - 16 fbdlige g
.10 - 12 fdsdigdy

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=31033] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q34
2[Option ID=31034]
3[Option ID=31035]
4[Option ID=31036]

Sl. No.35
QBID:163035

“World Radio Day’ is celebrated on :

1. 13 March
.13t February
. 33rdApril
 ame
11

(2) 2

3) 3

(4) 4
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1 1

) 2

@ 3

(4) 4
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1[Option ID=31037] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q35
2[Option ID=31038]
3[Option ID=31039]
4[Option ID=31040]

Sl. No.36
QBID:163036

Research *“NOIR is :

. Natural, Ordinary. Informational, Research
. Non-functional, Ordinal, Interval, Research
. Nominal, Ordinal. Interval, Ratio

. National, Ordinary, Informational, Ratio

(1) 1

(2) 2

(3) 3

(4) 4

MY TASSBIR g —

1. AR, SR, FHRURH, R

1)1
(2) 2
(3) 3
(4) 4

B R

EESE TN

1[Option ID=31041] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q36
2[Option ID=31042]
3[Option ID=31043]
4[Option ID=31044]

Sl. No.37
QBID:163037

In which approach hypothesis or theory not applied?

. Narrative Analysis
. Discourse Analysis
. Ground theory

. None of these

(1) 1

(2) 2

3) 3

4) 4

for g IUNTH H UTdeh eu -1 31T g Wgad gl fbd Srd g2

N S R O B
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. Taw=l fa=eyur
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(1) 1

(2) 2

(3) 3
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(4) 4

1[Option ID=31045] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q37
2[Option ID=31046]
3[Option ID=31047]
4[Option ID=31048]

Sl. No.38
QBID:163038

Code of Ethics for Media Research is :

. Integrity

. Responsibility

. Professional Competences
. All of the above

1) 1

(2) 2

3) 3

(4) 4

Hifgar g9t 2y & foru Afaed &t AER digarg -
1. Gy

I

5
2. ITREIAd
3. URIRTT &
4. SURIad §T
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=31049] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q38

2[Option ID=31050]
3[Option ID=31051]
4[Option ID=31052]

Sl. No.39
QBID:163039

Imprint lines means

. Type Size

. A Printing Method

. Details of Registration
. Lead Story

1 1

(2) 2

(3) 3

(4) 4

B AT BT 31f g

1. 2130 91asl

2. U Heur fafy

3. GolTehul &1 faarul
_dts wRt

1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=31053] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q39
2[Option ID=31054]
3[Option ID=31055]
4[Option ID=31056]

Sl. No.40
QBID:163040

The First Advertising Agency was set up in the year :

. 1840
. 1749
. 1841
. 1845

R




(1) 1
(2) 2
(3) 3
(4) 4

FafaRad foog ad § gy fagma- ol Riftd o1 118 o1 2

. 1840
. 1749
. 1841
. 1845
1)1
(2) 2
3) 3
(4) 4

N O

1[Option ID=31057] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q40
2[Option ID=31058]
3[Option ID=31059]
4[Option ID=31060]

Sl. No.41
QBID:163041

Which of the following Newspapers was edited by Dr. Bhimrao Ambedkar ?

A. Young India

B. Mooknavak

C. Bharat

D. Bahishkrit Bharat
E. Kesari

Choose the correct answer from the options given below :

1. B and E only
2. B and D only
3. Aand B only
4. A and D only

1 1

(2) 2

3) 3

(4) 4

31, ITRIE SIS HR gRI Yulicd YRR UA § -
A g Efear
B. HH-RI®H
C. YRd
D. S5 d URd
E. I

il feU U [9@el # ¥ Ugl SR &1 994 S|

1[Option ID=31061] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q41
2[Option ID=31062]
3[Option ID=31063]
4[Option ID=31064]

Sl. No.42
QBID:163042




Marketing concept is :

A. Production-oriented

B. Advertisement-oriented
C. Sale-oriented

D. Customer-oriented

E. Market-oriented

Choose the correct answer from the options given below :

.A, B, Conly
A C,Donly
.B. E, Aonly
.E,D, B only
(1) 1
(2) 2
(3) 3
(4) 4

AU SEYURUME -
A. 3Gl
B. fasToHFE!
c. famargt
D. TTgeh -l
E. ISRl
A feu U fasw eyl # ¥ Ugt 3av &1 994 Pifou|

1. $ad A, B, C
2. $hdd A, C,D
3. $AdB,E, A
4. $AAE, D, B

1)1
(2) 2
3) 3
(4) 4

B O R

1[Option ID=31065] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q42
2[Option ID=31066]
3[Option ID=31067]
4[Option ID=31068]

Sl. No.43
QBID:163043

In the constitutional assembly, the Anglo Indian and Parsis were represented by :

A. Rajendra Prasad
B. Sarojini Naidu

C. Frank Anthony

D. H.P. Modi

E. Abdul Kalam Azad

Choose the correct answer from the options given below :

. C and D only
. Aand D only
. D and E only
. E and A only
(1) 1
(2) 2
(3) 3
(4) 4

B O R
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1[Option ID=31069] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q43
2[Option ID=31070]
3[Option ID=31071]
4[Option ID=31072]

Sl. No.44
QBID:163044

Audio Editing terminology are :

A. Stand-by

B. Fade out

C. Monaural

D. Dissolve

E. Reverberation

Choose the correct answer from the options given below :

1. A, B, Conly
.B,C,Donly
.C,D.Eonly
.B, C.E only
1) 1
) 2
(3) 3
(4) 4

JYTSTT TG saIdel g -

A KSER
B. 158 3¢
C. HHERA
D. f&uiled
E. RavazH

A feu T fameul § 9 Ul 3av &l 994 Bl |

1.HIA A, B, C
2. $4d B, C. D
3. HIdC. D, E
4. BAAB, C.E

) 1

() 2

(3) 3

(4) 4

LR O]

I

1[Option ID=31073] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q44
2[Option ID=31074]




3[Option ID=31075]
4[Option ID=31076]

Sl. No.45
QBID:163045

Gramophone Record Disc was played at following speeds :

A. 45 rpm
B. 60 rpm
C.331/3 rpm
D. 78 rpm
E. 30 rpm

Choose the correct answer from the options given below :

1. A, B, Counly
2.B,C,E only
3,A,C.Donly
4.B.D. E only

(4) 4

TR Rars ot FufalRad fod 1fd R Ia™ S 82

A. 45 AR UITH
B. 60 R U TH
C.331/3 R U TH
D. 78 R Ul uH
E. 30 AR Ui TH

i feu ITu fasm el § ¥ 9l Iav &1 994 Pifog|

|.PAd A, B, C
2. $dd B, C.E
3. Hdd A, C,D
4. HddB, D, E

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=31077] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q45
2[Option ID=31078]

3[Option ID=31079]
4[Option ID=31080]

Sl. No.46
QBID:163046

Which of the following Talk shows on TV channels and their anchors are correctly matched?

A. Face to Face - Karan Thapper

B. Hard talk - Shekhar Gupta

C. Cover Story - Vir Sanghavi

D. We the people - Nalini Singh

E. The South File - N. Ram, Sasi Kumar

Choose the correct answer from the options given below :

1. A, B, Conly
2.A,C.E only
3.D,B. Aonly
4.B, C.Donly




Al AT R P I 3R I Uhr & fHfcfad 3 T o1 4 fHar gl &2

A HHTHY : S0 YR

B. IS Cld : R Il

C. B TR - IR gudl

D. dl g diud : qferdl Ui

E. G U3y BIgd : .3, AR HAR

i fGU U fddhed! & ¥ Ugl SR &1 994 Dol |

1. $ad A, B, C
2. PAd A, C.E
3. $Had D, B, A
4. $dd B, C,D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31081] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q46
2[Option ID=31082]

3[Option ID=31083]
4[Option ID=31084]

Sl. No.47
QBID:163047

Which of the following papers were introduced or edited by Madan Mohan Malviya?

A. Hindustan

B. Brahman

C. Abhhyudava

D. Leader

E. Malwa Akhbaar

Choose the correct answer from the options given below :

.A,.E, Donly
.B,A,Donly
.A,C,Donly
. A, C.E only

1) 1
(2) 2
(3) 3
(4) 4

HeHIg AIdd ™ S gRT HdbTd T Juied U= ¢ -

A. fgg&H

B. dIg0l

C. gy

D. dlsx

E. TTed] 39ER

il U U faded! H U gl IR &1 99 BT |

|.$dd A, E, D
2. HAd B,A. D
3. PAAA, C, D
4. HAdA, C,E

1) 1
(2) 2
(3) 3
4) 4

B O R

1[Option ID=31085] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q47
2[Option ID=31086]




3[Option ID=31087]
4[Option ID=31088]

Sl. No.48
QBID:163048

‘Which of the following actors have been awarded Dada Saheb Phalke Award (and the year)?

A. Amir Khan — Year 2015
B. Shashi Kapoor — Year 2014
C. Dharmendra — Year 2016
D. Rajanikant — Year 2019

E. Vinod Khanna — Year 2017

Choose the correct answer from the options given below :

Aonly

. D,
. D, E only

(4) 4

RieRgd § ¥ {1 i3] &I el God Hied [RIHR (AR 8 H) I 7 (601 731 82

A. ARG - a¥ 2015
B. TRI®W - a4 2014
. 4= - a9 2016

D. TSHIBId - a9 2019
E. faHi @A - 99 2017

i feu U fasm el § ¥ 9l Iav &1 994 Pifog|

1. %4d B.D,E
2. $Add B, C.E
3. $dd C,D, A
4. HaAC, D, E

1) 1
2) 2
3) 3
(4) 4

1[Option ID=31089] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q48
2[Option ID=31090]
3[Option ID=31091]
4[Option ID=31092]

Sl. No.49
QBID:163049

‘Write the correct option of newspaper and publication place.

A The Tribune (Chandigarh)

B. The Hindu (Hydrabad)

C. The Statesman (Calcutta)

D. The Amrita Bazar Patrika (Kottayam)
E. The Times of India (Bombay)

Choose the correct answer from the options given below :

. A B, Conly
. B,C,Donly
. A, C,E only
. D, C,E only
(1) 1
(2) 2
(3) 3
(4) 4

B o B




o O 0

FRfTRIT YHIER WAl I 34 U RM R dldl Ug! fddbed ! gHu :-

A. S fesgd (Jgg)
B. ¢ fg (BeX1dIg)

C. QWA (Padpdl)
D. T 37 STSIR UBGT (SIgTam)
E. G I3 31 33y (@ird)

i fGU U fddhed! H ¥ Ugl SR &1 994 Dol |

1[Option ID=31093] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q49
2[Option ID=31094]
3[Option ID=31095]
4[Option ID=31096]

Sl. No.50
QBID:163050

Which of the following editors and their related News papers are correctly matched?

A. Bhartendu Harishchandra (Brahman)
B. Ganesh Shankar Vidyarthi (Pratap)
C. Ramanand Chaterjee (Vishal Bharat)
D. Makhanlal Chaturvedi (Karmveer)
E. Shiv Prasad Shukla (Kal)

Choose the correct answer from the options given below :

. B.C. A only
.C.D, E only

.B, C,Donly
. D, E, A only

1) 1
(2) 2
(3) 3
(4) 4

FEfcRgd o Yurad SR 399 YaiUd - GaER: U 91 61 4 gaferd g2
A. HRdg gRY= (sITgm)

B. TUIRT iR faeedf (udm)
C. IMHE desil (9= HRd)
D. ARGdTd dqdal (HHAR)
E. 19 UH1S e (al)

il U U faded! H U gl IR &1 99 BT |

|.&dd B,C,A
2. HAdC, D, E
3. HAd B, C,D
4.%4dd D,E,A

1) 1
(2) 2
(3) 3
(4) 4

B R B

1[Option ID=31097] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q50
2[Option ID=31098]




3[Option ID=31099]
4[Option ID=31100]

Sl. No.51
QBID:163051

After the emergency (1977) the following publications entered into Indian Publication industry :

A. The Telegraph

B. Mid-day

C. Dainik Bhaskar
D. Indian Express
E. Frontline

Choose the correct answer from the options given below :

1. A, C and E only
2. A.BandE only
3.B. C and D only
4. C,D and E only

1) 1

2) 2

3) 3

(4) 4

AMAABI (1977) P S1G HRCAT GHIH I H FH{T gU -

A. G A%

B. 88

C. ¢H® YRR
D.s'jiﬁsuwaﬂﬁﬂ
E. Thearsd

A fou U fam el ¥ 9§ Ul 3av &1 994 S|

1.$hdd A, C3R E
2. Hdd A, B AR E
3, ®dd B, C IR D
4.%9d C,D 3R E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31101] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q51
2[Option ID=31102]

3[Option ID=31103]
4[Option ID=31104]

Sl. No.52
QBID:163052

The book “Diffusion of Innovation™ presents the concept of innovation and argues :

. 34% people have the ability to face risks.

. Innovation means a new idea, behaviour or an object.

. Will power to acquire innovation depends on one’s ability.

. 50% people have information through inter-personal communication
. 34% people are laggards

MmO N W

Choose the most appropriate answer from the options given below :

. A CandD only
.B. C and D only
.B. D and E oaly
. A, Band E only
1) 1
(2) 2
3) 3
(4) 4

B S O R




TSRS 3 AL AHS J&dd H TdM6R 3R ddb &l RN Udd B 15 6 -

A. 34 Ufa2rd aiTl | SiRgH 33 &1 Sadl 8ldl 8|

B. TIMAR $R A b4 i 97 [daR, AdgR a1 a5 9 3|

C. AR &1 UV &3 ardll Bl Sa81_Iad 39d SHal R FHR g
D. 50 UTa=Id Al &l SF&R sidRagidds YaR U sidl g

E. 34 Ufd=rd aiT fhas] gid ¢

< TG U fadhed! H O G4 IUgad STk &1 98- BT

1. Bad A, C 3R D
2. Had B, C 3R D
3. %ad B, D AR E
4. Had A, B3R E

@1

(2) 2

3) 3

4) 4

1[Option ID=31105] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q52
2[Option ID=31106]
3[Option ID=31107]
4[Option ID=31108]

Sl. No.53
QBID:163053

In 1986 Coca Cola introduced two slogans to differentiate brand, which was that?

A. The pause that refresh
B. Red, White and You

C. Enjoy thirst

D. Catch the wave

E. What you want is coke

Choose the correct answer from the options given below :

I. E and A only
2. Band D only
3. D and E only
4. B and A only

1 1

(2) 2

3) 3

4) 4

DD Dicll 4 1936 H 3T 611S B1 fafR ug=aH & folu & T UR® fbu, Sl SIHY 49
A. QUM ¢e Rip=

B.38, ®13¢ 3R Y

C. 3N U

D. $d G dd

E. gl g dic 3d idh

I 6T U faded! H U Had SUgdd IR &1 994 DI

|. HIAdE 3R A
2. HAd B 3R D
3. HadD 3R E
4. HAAB 3R A

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=31109] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q53
2[Option ID=31110]




3[Option ID=31111]
4[Option ID=31112]

Sl. No.54
QBID:163054

‘What are the amendment made in the Copyright Amendment Act, 20127

A The writer would be considered first owner

B. It enables the writer to claim equal royalty in case of any use of sound recording and cine-art.
C. It provides complete rights to the director.

D. It provides original specific identify to the rights of artist.

E. It enables especially to the owner.

Choose the correct answer from the options given below :

1.B, C,Dand E only
2.A,B.CandD only
3. A,B,DandE only
4. A, C,D and E only

(4) 4

DITRISe T ATTH 2012 H 710G YA FHTIRE 2

A. TGD I UYH HIlcTD THHT ST

B. oa® @ @i RaiTen a1 fAdar & fadt Hf ST d aed] # Ue 9 /a1 3 & [0 UeH S g |
c. e &1 -1 USRS g |

D. HADR & AUGRI B difcs Ay tgaH g

E. HIld® &1 [a=Y =9 U 9H S91d1 ¢ |

HId feu v faded! & 4 999 Sugdd IR &1 999 SIfU|

1. $dd B, C,D 3ARE
2. $hdd A, B, C 3R D
3. ®hdd A,B.D 3R E
4. %ad A, C,D 3R E

1) 1
2) 2
(3) 3
(4) 4

1[Option ID=31113] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q54
2[Option ID=31114]
3[Option ID=31115]
4[Option ID=31116]

Sl. No.55
QBID:163055

Some of functions of press council of India was amended in the year 1978.

A. Undertake studies of foreign newspapers.

B. Promote functional relationships.

C. Give openion to Central Governent regarding standard of News Papers.
D. Give developmental openion.

E. Build Code of conduct for News Papers

Choose the correct answer from the options given below :

1. A and C only
2. B and C only
3. D and E only
4. Aand B only

1) 1

(2) 2

3) 3

(4) 4




Iy 1978 H HRIF U9 URYE & $& SRl H Y=eH fbu MU Si Y : -

A Tacel SRR Wl & 3eag Sl

B. HHfd® Tae BT UicaTg a1

C. AR Tl & AF® & aR H &g RHR B G ol
D. fa®rg Teiel 33 &

E. GHER YAl & 3R Ilgdl 1 daR &RAT

i feu 7T fadhed! @ T Gad IUgad 3R &1 99 HIfSU|

1[Option ID=31117] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q55
2[Option ID=31118]
3[Option ID=31119]
4[Option ID=31120]

Sl. No.56
QBID:163056

Good Advertisement is expected to build relationship with whom?

A. The Buyer

B. The Brand

C. The Advertiser

D. The Loyal Customer
E. The Retailor

Choose the correct answer from the options given below :

. A, E and B only
. A, BandD only
. A, Dand C only
.B. E and D oaly

1 1
(2) 2
(3) 3
(4) 4

=S Ao ¥ foud 91y Gee Sia &1 SUel &1 Sl ¢

A. thdl

B. 98

c. faqmgerdar
DR CHICIEEIRED
E. &1 AR

A feu T fameul § 9 Ul 3av &l 994 Bl |

1.$hdd A, E 3R B
2. Hdd A, B3R D
3. hdd A, D 3R C
4. $ad B, E 3R D

(1) 1
) 2
(3) 3
(4) 4

B N O B

1[Option ID=31121] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q56
2[Option ID=31122]




3[Option ID=31123]
4[Option ID=31124]

Sl. No.57
QBID:163057

Denis McQuail's characterization of Mass Media include

A. The audience is part of a mass culture.

B. Audiences are homogenous

C. They are directed toward large audiences

D. They are private and their content is open

E. The relationship between media personalities and audience members is mediated

Choose the correct answer from the options given below :

.A,B.Conly
.B, C, E only
. A, C,E only
.C,D. E only

B R

1) 1
(2) 2
(3) 3
(4) 4

ST Hdd & A9 Hifsdr (39 99R) & a0 # Fu1.a afffrd g

A. D (YIA1-ERD) O Ypid & |
B. 3EH YA ¢ |
C. 93 AMED 97 B 3R FeRAT g T

D. 3 ol § SR fawgasg Gefl Upfd &1 gl 81
E. HIf$a1 & sfadal 3R 3Higd He&! & sid Yay Fafgd gidi o

I fau 70 fadedl & ¥ 999 Sugdd IR &1 99 DU

. $Ad A, B, C
. $ad B, C, E
.$dd A, C,E
. $adC. D, E

1) 1
(2) 2
(3) 3
(4) 4

iSSPV

1[Option ID=31125] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q57
2[Option ID=31126]
3[Option ID=31127]
4[Option ID=31128]

Sl. No.58
QBID:163058

Content Analysis is

A. Study of how the mass media create their content
B. Study why mass media do so

C. Any statistical description of media content

D. Study of meaning of a message

E. Management of content material

Choose the most appropriate answer from the options given below :

.A.B,Donly
A, C,Eonly
.A,B. Conly
. A, C,Donly
1
(2) 2

B B




3) 3
4) 4

e fazavur g :

A. T8 3 B3 T 01y WIS $4 faugas] giord dxdl gl
B. Jg G Sl [ TR Hifeqr i Ua diar g |

c. Hifsq1 &1 [a9gasd &1 DI Fifkeadid fadwul

D. Tl TR & o1 o1 3remad

E. favgasg &f 9t &1 ude

HId feu v faded! & 9 999 Sugdd IR &1 999 DIfU|

|.Pad A, B.D
2. BAd A, C. E
3. Hdd A, B, C
4,%?1;;,(:_,[)

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=31129] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q58
2[Option ID=31130]
3[Option ID=31131]
4[Option ID=31132]

Sl. No.59
QBID:163059

Public Relations specialists create public image for

A. Employee

B. Employer

C. Content writing

D. Raise Funds

E. Direct Public Relations

Choose the correct answer from the options given below :

. A, Band C only
.B. C and D only
. D, E and A only
.C, B and A only
1 1
(2) 2
3) 3
(4) 4

of S [aRIeR fhgdh fofu HIdwiiies Sfd giord &3d g2
A. HHARI

B. faidr

c. favga¥] oA

D. (Aferat Sern
E. U8l oI 9 d

B O R

i flGu e faded! & O Gad IUGad 3T &l 98- B

1. HadA. B R C
2.%dd B, € 3R D
3.$dd D, E 3R A
4. Hadc, B3R A

1) 1

@) 2

3) 3

(4) 4




1[Option ID=31133] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q59
2[Option ID=31134]
3[Option ID=31135]
4[Option ID=31136]

Sl. No.60
QBID:163060

Which of the following dances came under the category of traditional folk dance?

A. Bihu dance

B. Raii dance

C. Robot dance

D. Contemporary dance
E. Karma dance

Choose the correct answer from the options given below :

. A D,Bonly
.A. B, E only
. A, B, Conly
. A, C,Doanly
1) 1
(2) 2
(3) 3
(4) 4

20 Y 9 IRERATG did T & Siaiid ofid g -
A

B

5

D

E

B o R

i fau U fasw el § O Ugt 3av &1 994 Pifog|

|.PAd A, D, B
2. HAdd A, B, E
3. %dd A, B, C
4. HAA A, C.D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31137] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q60
2[Option ID=31138]

3[Option ID=31139]
4[Option ID=31140]

Sl. No.61
QBID:163061

The main areas of Nonverbal Communication study are

A. Face Expression
B. Language

C. Interpersonal zones
D. Debate

E. Tattoo

Choose the correct answer from the options given below :

. A B, Conly
.C,D, E only
. B, C,E only
A, C.E only
1) 1
(2) 2
(3) 3

B S B O B




(4) 4

SHIRAD N e o G & ¢ -

A. Y R HfHafad
B. HINT

C. AR-Jafda® &
D. dig-fadarg

E. &g

14 e U fadhed! & © Gad Iuged 3R &1 98 iU

1. $IA A, B. C
2. HIAC. D, E
3. HddB, C. E
4. HAA A, C. E

(1) 1

() 2

(3) 3

4) 4

1[Option ID=31141] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q61
2[Option ID=31142]
3[Option ID=31143]
4[Option ID=31144]

Sl. No.62
QBID:163062

According to Needs theory in Advertising, most commonly identified needs are

A. Popularity
B. Anger

C. Achievement
D. Laugh

E. Novelty

Choose the correct answer from the options given below :

1. A, B, Conly
A, C,E only
.C.D, E only
. B, C,E only
(1)1
(2) 2
3) 3
(4) 4

faT o saadhd! fHsid & YR Hdiitd i U Y UgdH &1 T8 Hadhdll g :

A. AT
B.®IY

C. 3udfe
D. gl

E. 9qHar

1 flGu e fasdhed! & T Gad IUGd 3T &1 98- B

1. $ad A, B, C
2. HAd A, C,E
3.$ddC, D, E
4. HAAB, C, E

(1)

(2)

(3)

(4)

[N ]

4=




1[Option ID=31145] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q62
2[Option ID=31146]
3[Option ID=31147]
4[Option ID=31148]

Sl. No.63
QBID:163063

According to Indian ‘Ras theory® accomplishment of Ras is related from the following.

A. Vibhav

B. Kavya

C. Anubhav

D. Sanket (Indication)
E. Viyabhichari Bhav

Choose the correct answer from the options given below :

A, D, E only
B, A, E only
.. A, C,E only
4. B, D, C only
(1) 1
(2) 2
(3) 3
(4) 4

YR Y ST & AR I 61 (i & Yaiey g d g -

A faHE

B. ®IA

C. U

D. Udhd

E. YR 49

HId fau 7 faded! & 4 999 Iugdd IR &1 999 SIT|

1. $IAA.D. E
2. HAdAB. A, E
3. %Hdd A, C.E
4. HIAB, D, C

1) 1

(2) 2

(3) 3

(4) 4

1.
2,
3

1[Option ID=31149] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q63
2[Option ID=31150]
3[Option ID=31151]
4[Option ID=31152]

Sl. No.64
QBID:163064

Following are types of speech?

A. Madhyama
B. Paraa

C. Pashyanti
D. Akhchara
E. Vaikhari

Choose the correct answer from the options given below :

. A D, E only
.B, C, E only
B, A, Donly
.B.E. Aonly
1 1
(2) 2
3) 3

e o




(4) 4

fraffad d it S UaR € -

A HEHT
B. U

C. UGl
D. H&RI

E. 3@

i ST U [dhed! @ ¥ gl SR &1 994 Do |

|.$PAd A D, E
2. HAd B, C.E
3. Hdd B, A, D
4. HAdAB,E, A

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=31153] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q64
2[Option ID=31154]

3[Option ID=31155]
4[Option ID=31156]

Sl. No.65
QBID:163065

Tele-communication Department has included which of the following directives and main conditions regarding internet
provider licence?

A. Licence Service Provision has to be limited only to the concerned area.

B. The way to connect intermediataries and internet gateway is uncertain.

C. The nature and form can by conveyed.

D. Customer-centric protection and non-discriminatory service should be ensured.
E. The service should not be limited to the given area.

Choose the correct answer from the options given below :

l. A, B, Conly
2.A.C.Donly
3. B,D.E only
4. D.E.Aonly

(1) 1

(2) 2

3) 3

(4) 4

&R YR [AUFT §RI 332 Yl UeTdl disuy 3 98 a1 3R 9w 2al o i g

A. AI3UY Y1 U dd gl Yal &1 Wiay giiid gl

B. A=Al 3R 3-ex-e 1ed ¥ I3 &I aidl LT 6l
C. Yd1 BI Up{d 3R WY §dl ol Yebdl gl

D. UIe® di-d GR& HEHd Agd Jal [ gl

E. U4 d38Y UG 3clld ddb diidd 4 8l

i feu U fasm el § ¥ 9l Iav &1 994 Pifog|

|.PAd A, B, C
2. hadd A, C, D
3. $dd B, D, E
4. HAdD, E, A

@) 1
() 2
(3) 3




(4) 4

1[Option ID=31157] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q65
2[Option ID=31158]
3[Option ID=31159]
4[Option ID=31160]

Sl. No.66
QBID:163066

Match List I with List IT

LIST I (Name of Newspapers)[LIST II (Year of Establishment)
A [Kesart I 1868
B. [Young India IT. 1881
C. |Amrit Bazar Patrika IIL. |1919
D. |Indian Opinion IV, |1904

Choose the correct answer from the options given below :

. A-IV, B-1, C-11, D-IIT
- A-IL B-III. C-1IV, D-1
-A-IL B-III. C-I, D-IV
. A-IIL B-1. C-IL, D-IV
1) 1
(2) 2
(3) 3
(4) 4

Tl 11 ol 11 9 e i

o 1 (SR UA &1 AT)[a 1 (RUTT1 37 36
i I 1868

B. [g7 gfem 1 [1881

C. [3{Hd &SR U1 11 f1919

D. [BreT= HiuHTe V. [1904

S N e e o

FafiRad faeddl | ¥ Ugl 3Tk &1 994 BT

B

. A-IV, B-1, C-I1, D-III
. A-ITL B-III, C-TV, D-1
. A-II, B-IIT, C-I, D-IV
. A-IILL B-1, C-I1, D-IV
(1)1
) 2
(3) 3
(4) 4

e

1[Option ID=31161] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q66
2[Option ID=31162]
3[Option ID=31163]
4[Option ID=31164]

Sl. No.67
QBID:163067

Match List T with List IT

LIST I (Name) LIST I (Co-relation)

A |Paaparazi 1. |Photo Journalism
B. [Public Journalism| II. [TV Journalism
C. |Peni Press II1. |C1tizen Journalism|
D. |Ground Zero IV, [Print Journalism

Choose the correct answer from the options given below :

AL B-IV, C-11, D-11I
. A-I, B-II, C-IIL, D-IV
. A-I, B-IIL. C-IV, D-II
CA-IV, B-II, C-1, D-II
(1)1
(2) 2
(3) 3
(4) 4

W




Tl 11 Yl 11 Y HaH diforg

T 1 A T 11 (FE-Hew)
A [OTORTS 1. [®Iel Gehlidl
B. [qi® D@1l 1L [F1 7. o
C. [i-iug 111 [T TS
D [Es SR (deTda)| IV, [HE0 et (he siiesH

fgfaRad fadmedl # I 98! SR &1 994 Hifoe -

- A-L B-IV, C-I1, D-III
-I, B-IL, C-1IL, D-IV

1[Option ID=31165] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q67
2[Option ID=31166]
3[Option ID=31167]
4[Option ID=31168]

Sl. No.68
QBID:163068

Match List I with List IT

LIST I (News Agency)| LIST II (Country)
A_[EFE 1. [Indonesia

B. |AFP II. |Spain

C. JANTARA 111 |Russta

D. |[TASS IV. [France

Choose the correct answer from the options given below :

1. A-IL B-IV, C-1, D-III
. A-II, B-1, C-IV, D-IIT
. A-IV, B-1. C-II, D-III
.A-TV, B-II, C-1, D-IIT

O VS R )

1) 1
(2) 2
(3) 3
(4) 4

Tt 11 i 11 Y e Sifere

I [ (THTER gein)| g1 I (SR
ARUES I [EEHfEm
B [eumdl 1. [&4

C. [siga IIL [&9

D. [dF IV. [l

o

FafeRad f[dsedl # 4 981 3R &1 I99 Hifou

. A-II B-IV, C-1, D-ITI
. A-IL, B-L C-IV, D-III
. A-IV, B-1, C-II, D-III
. A-IV, B-1I, C-1, D-III

O

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31169] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q68
2[Option ID=31170]

3[Option ID=31171]
4[Option ID=31172]




Sl. No.69
QBID:163069

Match List T with List IT

LIST I (Advertising Agencies) LIST II (Company’s Brand)

A |0 & M (Ogilvy & Mather) I [Nestle

B. Mac Cane Ericson II. [Proctor & Gamble
C. |Trikava Grev 11T Master Card

D. JWT Hindustan Thompson Associate] [V. [Cadbury

Choose the correct answer from the options given below :

1. A-I, B-III, C-IL, D-TV
2. A-IV, B-III, C-II, D-1
3. AL B-IV. C-1, D-III
. A-IV, B-1, C-I1, D-III
(1) 1
(2) 2
(3) 3
(4) 4

Tl 11 ol 11 9 e i

-

T 1 (e TereE T 11 (@U 778)
A |31 T8 T (I U8 T L A=
B. [ o uiad 11. [AteeR Us T
C. [FEr 111 [AR T8
D. [& S&cy ¢l [gwa 4IFEH Eiiive] Iv. [headl

D

i S o

gfaRad fadedl 7 ¥ 9l 3R &1 99 Difelu -

=l

1. A-I, B-III, C-II, D-IV
2. A-IV, B-III, C-II, D-I
3. AL B-1IV, C-1, D-III
4. A-IV, B-L, C-1I, D-III

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31173] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q69
2[Option ID=31174]

3[Option ID=31175]
4[Option ID=31176]

Sl. No.70
QBID:163070

Match List I with List IT

LIST I (Doordarshan Channels)]LIST IT (Year of Establishment)
A DD International I. PJanuvary 26, 2002
B. ID D Sports II. March 14. 1995
C. |D D Bharati II1. March 18, 1999
D. ID D News IV. [November 3_ 2003

Choose the correct answer from the options given below :

.A-I. B-IV, C-1I1, D-I11
. A-IL B-III, C-I, D-IV
.A-L B-IIL, C-III, D-IV
. A-IIL B-1L C-I1L, D-IV
(1)1
) 2
(3) 3
(4) 4

B




Tl 11 Yl 11 Y HaH diforg

Qﬁﬁl@'{ﬁ'ﬂhﬂﬂm

'ﬁﬁmmaﬂ)

A [S131 TeEHd

h s Sail 2002

[S131 |icH

[ea]

. |14 | 1905

C. 3131yt

|12 A 1999

D. [S13] I

" B J95ET 2003

fgfaRad fadmedl # I 98! SR &1 994 Hifoe -

1. A-I, B-IV, C-II, D-III
2. A-I1, B-III, C-1, D-IV
3. A-lL B-II, C-IIL, D-TV
4. A-IIL B-1. C-II, D-IV

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31177] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q70
2[Option ID=31178]
3[Option ID=31179]

4[Option ID=31180]

Sl. No.71
QBID:163071

Match List I with List IT

LIST I (Theory) LIST II (Theorist)
A |Cognitive Dissonance Theory| 1. [Karl Hovland
B. |Attitude Change Theory II. [Lazarsfeld
C. [Semiotic Theory II1. |L A Festinger
D. [Limited Media Effects IV, |Charles Sander Peirce]

Choose the correct answer from the options given below :

A-IIL B-IV, C-1, D-II
ATV, B-I1, C-1, D-IT
A-IIL, B-1, C-IV, D-TI
. A-TV, B-II, C-IIL, D-1
1) 1
(2) 2
3) 3
(4) 4

Tt 11 Yl 11 9 e Sifore

R

1[Option ID=31181]
2[Option ID=31182]
3[Option ID=31183]
4[Option ID=31184]

T 1 (Frst) [ 1 i@ ar)
A [duHTE® WiHdy Hgid L [@rd glacs
B. [ifigh oRada Risia 11. [eTsues
C [Herd d9IHS WEid 1L |[Ud. U el
D. [Gifed Hirear u4E V. [ared S22 oad|
FafRad famedl | I gl 3R &1 99 I ;
1. A-I1T, B-IV, C-I, D-II
2. A-IV, B-III, C-I, D-II
3. A-IIL B-1, C-IV, D-II
4. A-IV, B-II, C-III, D-I
1) 1
2) 2
(3) 3
4) 4

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q71

Sl. No.72
QBID:163072




Match List T with List IT

LIST I (Model) ILIST II (Name of the Presenter)
A |S-M-C-R Model [. [Barnlund
B. [Transactional Model II. [David Berlo
C. |Remforcing Spirals Model] II1. [Daniel Lear
D. [Development Model IV. Michael D Slater

Choose the correct answer from the options given below:

.A-IIL B-IV, C-1, D-II
.A-IL B-L, C-IV. D-II
. A-IV, B-1I, C-1II, D-1
. A-IV, B-1II., C-I, D-II
1)1
(2) 2
3) 3
(4) 4

! 11 Yl 11 Y [ diferg

W

T 1 (@S9 R 11 (AT &1 1)
A [tgur R Hisd Wawy)| 1 [§Hds
B. [degggr digd 1. [Sfgs sar
C. [NEpibT i disd |1 [SHgd dE
D. [[G@™ aiga v [A=E 21 WX

e S O e ey Fa

FafeRad faeddl | ¥ Ugl 3R &l 994 $HIfoTU -

1. A-II, B-IV, C-1, D-II
2. A1, B-L, C-1V, D-11
3. A-IV, B-11, C-III, D-I
4. A-IV, B-I1I. C-1, D-II
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=31185] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q72
2[Option ID=31186]

3[Option ID=31187]
4[Option ID=31188]

Sl. No.73
QBID:163073

Video production equipments

A. Dolly

B. Audio Mixer
C. Group Shot
D. Boom Pole
E. Voice over

Choose the correct answer from the options given below :

1. A.B, Conly
.A.B.D only
.B,C.E only
.C,D, E only
1 1
(2) 2
3) 3
(4) 4

LN ]

iy




oy

TSl TS aeH SUH ¢ -

A 3ldl

B. 334l fARR
C. qu qIic

D. 99 Uid

E. 9199 3@’

1< 16U U fdshed! | U Ugl 3R &1 994 Dl

. $dd A, B. C
2. $dd A, B. D
3. HAdB, C. E
4, HddC,D. E

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=31189] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q73
2[Option ID=31190]
3[Option ID=31191]
4[Option ID=31192]

Sl. No.74
QBID:163074

Match List I with List IT

LISTI (Films) |LIST II (Director)

A Mother India 1. |Satyajit Rav
B. [Pather Panchaly II. |[RajKapoor
C. [Sholay III. PMehboob Khan|
D. |Awara IV. NN Sippy

Choose the correct answer from the options given below :

. A-IILL B-II, C-TV, D-1
CA-ITL B-TV, C-1, D-IIT
. A-ITL B-IIL, C-TV, D-1
. A-IILL B-1, C-IV, D-II
1) 1
(2) 2
(3) 3
(4) 4

Tt 11 Yl 11 Y e Sifore

B =

R

AgREEm |1 [geeial
B. [qER uiErdl | I Risiew

C. B 111 [{e9d @1
D. [3M@R1 V. [T 09 fadi

N S e O,

FRfRad f[aeddl | ¥ Uol 3T &l 994 BT

. A-IIL B-I1, C-TV, D-1
. A-IIL B-TV, C-1, D-III
.A-II, B-III, C-TIV, D-1
AL B-1, C-IV, D-II
11
(2) 2
(3) 3
(4) 4

B B

1[Option ID=31193] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q74
2[Option ID=31194]




3[Option ID=31195]
4[Option ID=31196]

Sl. No.75
QBID:163075

Match List I with List IT

LIST I (Books) LIST II (Author)
A_ [Handbook of Public Relations I Mark Tully
B. [The Heart of India II. |Daniel Learner
C. |India Then and Now IT1. |Philip Lessely
D. |The Passing of Traditional Society] IV. [Veer Sanghvi

Choose the correct answer from the options given below:

CA-ITL B-IV, C-1, D-II
CA-IL B-IV, C-1, D-III
. A-II B-1, C-II1, D-IV
. A-IIIL B-1, C-1V, D-II
1) 1
2) 2
(3) 3
(4) 4

Tl 11 ol 11 9 e i
T 1 (g e 1 ()
I | i

I

A [B3gm HIh Ufstid Rax

B [g 8 3ifp sfea 1 BRaaaR
C. Eemcaus g 1L [ipierg oiga
D.

G TIREAT 3 SfSRMa qaae| IV, [9R Tadt

gfaRad faemedl # 1 98l SR &1 994 BT -

CA-IIL B-IV, C-1, D-II
AT B-TV, C-1, D-TIT
. A-IL, B-L C-IIL, D-IV
CA-IIL B-L C-IV, D-II
1) 1
(2) 2
3) 3
(4) 4

N N

1[Option ID=31197] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q75
2[Option ID=31198]
3[Option ID=31199]
4[Option ID=31200]

Sl. No.76
QBID:163076

Correct the sequence of Public Relations process :

A. Action

B. Research

C. Communication
D. Evaluation

Choose the correct answer from the options given below :

1.B,A,C,D
2.A.B,C.D
3. €A B
4.B.D.A.C

(1) 1

) 2

(3) 3

(4) 4




ST Uichal BT gl AP S -

A, fobar

B. XY

C. TUNUT (TR
D. HidhH

i 16U U fae el # U gl 3R &1 994 S|

WA
Orwp

PenNn

B
Ngou

1)1
(2) 2
3) 3
(4) 4
1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.77
QBID:163077

Arrange chronology of Radio programmes from All India Radio.

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q76

A. First National Programme of Music
B. Introduction of phone-in-programme
C. Maan Ki Baat

D. Kisan Vani

E. First News Bulleting

Choose the correct answer from the options given below :

LLE B A D
2.AE,B,D,C
3. E,A,B,D,C
4. AE,D,B,C
(1)1
) 2
(3) 3
(4) 4

Hid 28 Al © yuiikd g arc A3 SribH &1 BIdh U HR HAfR(d Hifod|

A. Tifid & Tgen AP SRieH
B. BIH-3 HRIhH Bl YIS
C. AT Bl dd

D. fbgr aruit

E. U4 JHMER qaife

A 76U U fa@edl | ¥ gl 3% &1 994 Sl |

I.E,B,A,C.D
2A BB D G
3. EAB: D C
4. AJE.D,B,C
1)1
(2) 2
3) 3
(4) 4

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q77




Sl. No.78
QBID:163078

Correct the sequence cronologically

A. The Official Secrets Act

B. The Press and Registration of Books Act
C. The Right to Information Act

D. The Contempt of Court Act

E. The Prasar Bharti Act

Choose the correct answer from the options given below :

1. A BC.D.E
2. BABDEC
3.C,A,B,D.E
4.E,A,B,C,D

1) 1

(2) 2

3) 3

4) 4

O

FHREd B BIIhHER TdRd BT :

A, S MO ffa=ag

B. UY 3R J&idh Uil fafge
C. g1 &1 ISR sffafad

D. IATd SGHHAT e

E. TR YRd! sfafay

i ST U [ddhedt @ ¥ gl SR &1 994 Do |

A BC DL E

A, L E,C
A .B.D,
A B, C,

1

2. B, C
3.5 E
4.E, D

1[Option ID=31209] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q78
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.79
QBID:163079

Identity the chronological order of International News Agency.

A. Xinhua
B.UPI

C. TASS
D. Reuters
E. AP

Choose the correct answer from the options given below :

i B DB
2. D,C,B,AE
3.D.A.B.C.E
4.E.D,C,B,A

(1) 1

(2) 2

3) 3




frifehd eI iRl &1 SIAhHITIR HH T8 -

A fogen
B. g Ui 3113
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D. Iy
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. D 7
=1, C-E
< B B.

B e L
o
n W

A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31213] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q79
2[Option ID=31214]

3[Option ID=31215]
4[Option ID=31216]

Sl. No.80
QBID:163080

Identify the chronological order of the communication theory.

A. Two Step Communication Theory.
B. Semiotic Theory.

C. Normative Theory

D. Public Opinion Theory

E. Dependence Theory

Choose the correct answer from the options given below :

1.B,D,C,E. A
2.D,AE.B,C
3.EEB.D.C,A
4.B,D;AE, C

(1) 1

) 2

(3) 3

(4) 4

Fgifhd GUyul Rigidl & S a-dR 6 oI Ugdli -

A. fg=avoiig duwo Rigia
B. UitHifed fagia

C. g4 fagid

D. SHHd Rzl

E. 3{Tigadr Ri<id

i feu e fasm eyl # ¥ Ugt Iar &1 994 Pifog|

o

O MmN
MmO WM
0w 0

el R
wmow

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=31217] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q80
2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]




Sl. No.81
QBID:163081

Identity the chronological order of News papers.

A. The Tribune

B. Indian Express

C. The Times of India
D. The Hindu

E. Hindustan Times

Choose the correct answer from the options given below :

LA C.D B E
2.C,D.ALE. B
3.A,D.C,B.E
4.C,A,D.E.B

1) 1

(2) 2

3) 3

(4) 4

FEifhd THER T $ Iad HgHR ¢ H Tg=iy -

A T o

B. 30394 UaqUy

C. G I3 A% Sfsar
D. G fgg

E. fegxH argH

i feu Tt faswedl § 9 Ut 3R &1 994 Bifolg|

1.A,C,D,B,E
2.C,D,A.E.B
3.A,D,C,B,E
4. C,A.D.E.B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31221] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q81

2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.82
QBID:163082

Arrange the Press Committees and Commission chronologically from the earliest to the most recent -

A. Sharad Pawar Committee
B. Verghese Committee

C. P.C. Joshi Committee

D. Kuldip Nayar Committee
E. Vidyalankar Committee

Choose the correct answer from the options given below :




fafaRad Ug O defed giiiaal ud smai o 99l ugd 9 314l 81d db & didd-HAR ¢4 5 Haiid difou|

A. TRE UdR HiAfd
B. Tiffol fffd

c. Ui 4. Si gt
D. pagid TR FiHfd
E. faeder wfafd

i fGU U fddhed! & ¥ Ugl SR &1 994 Dol |

I.LE,D.A.B.C
22A.C.B.D.E
3.E,D,B. €A
4 A.D.B.C.E
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=31225] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q82

2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.83
QBID:163083

Identity the chronology of Press Councils® Chairman

A. Justice A.N. Sen

B. Justice G.N. Roy

C. Justice P.B. Sawant

D. Justice N. Rajagopala Ayyangar
E. Justice K. Jayachandra Reddy

Choose the correct answer from the options given below :

1.D,A,C,E,B
2.A,D,C,B,E
I D.EC AW
4.A,D,E,C.B

(1) 1

(2) 2

3) 3

(4) 4

U9 URYE & el &l BIcIhHYUR UgdH HifoU|

i fau 71U faswhedl § 9 Ut 3R &1 994 Bl |

> B po
=R =

il
CHeNaNe!
NP =
ooRlvellc Rl v

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=31229] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q83
2[Option ID=31230]




3[Option ID=31231]
4[Option ID=31232]

Sl. No.84
QBID:163084

‘Write the correct sequence of Television events.

A. SITE programme started.

B. Regular service started in Delhi.
C. Commercial TV commenced

D. INSAT | A became operational
E. Terrestrial Transmission started

Choose the correct answer from the options given below :

GG (Colifas) O Hafrd geArsii & Ugl hd &l 9dIgu -

A. YIZ¢ DRIHH D 3|

B. fa el § fAaffrd 9ar uRY S 12 |
C. A ldl &1 Lo3Td gs |
D. 3-9¢ 1 U Ydre- | 3|

E. Hdd UHRU URH g3

A feu U fasmeul # O Ugt 3ar &1 994 Piforu|

LAB DICE
2. BACED
3:CDABE
4.B,C,E,D. A
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31233] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q84

2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.85
QBID:163085

Arrange chronologically the films of famous actor, Raj Kumar.

A. Mother India

B. Paigam

C. Dil Apana Preet Parai
D. Godan

E. Gharana

Choose the correct answer from the options given below :

LB A E.D
2.ACD,BE
3JABCED
4:B,C,;E, DA

1) 1

) 2

(3) 3

(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31237] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q85
2[Option ID=31238]

3[Option ID=31239]
4[Option ID=31240]

Sl. No.86
QBID:163086

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A):  The two main types of modulation of radio signals are called Amplitude Modulation and Frequency
Modulation.

Reason (R) : Modulation is a system designed to decrease the frequency of signals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
(2) 2
(3) 3
(4) 4
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Given below are two statements :

Statement I : ‘Language’ word came from greek word ‘lingua’ meaning “tongue’. As such language can be defined as
the ‘use of the tongue’ to create meaning bearing forms.
Statement II : Media dominance is a technique of buying a large amount of space on time in one medium for an

advertisement or program.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II 1s correct.
(1) 1
(2) 2
(3) 3
(4) 4
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Given below are two statements :

Statement I : Kuleshov effect theory proposed by Russian film theorist Lev Kuleshov says that a single shot can be
given a different interpretation when shown next to another one.
Statement [T : Those who already are knowledgeable receive more benefit from the media and new information

technologies than those who are not.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1)1

2) 2

3) 3

(4) 4
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Given below are two statements :

StatementI : Freedom of speech is right to speak out publicly or privately, through any medium of expression.
Statement II  : Information society 1s world order in which the exchange of information shapes social and economic
systems.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
1) 1
) 2
(3) 3
(4) 4
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Given below are two statements :

StatementI : New Media technologies, which are involved in the creation, delivery and consumption of media content.
Statement IT  : These media apply specially to digital media, such as digital satellite, internet linked PC's, MP3 player
etc.

In the light of the above statements, choose the correct answer from the options given below :

Both Statement I and Statement II are true.
Both Statement I and Statement IT are false.
Statement I is true but Statement II is false.
Statement I is false but Statement II is true.

o

1 1
(2) 2
3) 3
(4) 4
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Read the following passage carefully and answer the questions based on it :

Communication gets success because of only one reason that is the message sense in conformity with needs of receptors,
though it should be seen completely separate from source of message. Communication would be only effective, when the
source and the receptor, both draw similar meaning; if communication source would be elitist, for transmission of message
and adopted in downward direction and source of communcation or planner or their implementer are not appropriate, then
we can not get expected success by presuppositive content. It is important for the solution of the problem that participatory
understanding should be created and receptor had ability to solve that. It would be not only enhance the mutual
understanding but would also promote mutual trust between the source and the receptor.

For message and their communication, and appropriate and right direction is also of much important. This path channel
should be under the area of participant and should be conformity with communication’s goals. For example, TV educational
programmes would be successful to achieve their goals only, when illiterate adults have their own medium to reach. It is
important for the success of development programme that it should be integraed; it should be in conformity with people’s
needs and in that their participation should be sought.
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When source and Receptor, both derives similar meaning of communication then :

I. Communication is incomplete
2. Communication is effective
3. Communication is ineffective
4. None of these

1) 1

) 2

(3) 3

(4) 4
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Read the following passage carefully and answer the questions based on it :

Communication gets success because of only one reason that is the message sense in conformity with needs of receptors,
though it should be seen completely separate from source of message. Communication would be only effective, when the
source and the receptor, both draw similar meaning; if communication source would be elitist, for transmission of message
and adopted in downward direction and source of communcation or planner or their implementer are not appropriate, then
we can not get expected success by presuppositive content. It is important for the solution of the problem that participatory
understanding should be created and receptor had ability to solve that. It would be not only enhance the mutual
understanding but would also promote mutual trust between the source and the receptor.

For message and their communication, and appropriate and right direction is also of much important. This path channel
should be under the area of participant and should be conformity with communication’s goals. For example, TV educational
programmes would be successful to achieve their goals only, when illiterate adults have their own medium to reach. It is
important for the success of development programme that it should be integraed; it should be in conformity with people’s
needs and in that their participation should be sought.
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It is important to solve problem in Development Communication that

. Participant’s understanding should be created.

. Receptor should be able that he could solve that.
.Both (1) and (2)

. None of the above.
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3) 3

(4) 4
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Read the following passage carefully and answer the questions based on it :

Communication gets success because of only one reason that is the message sense in conformity with needs of receptors,
though it should be seen completely separate from source of message. Communication would be only effective, when the
source and the receptor, both draw similar meaning; if communication source would be elitist, for transmission of message
and adopted in downward direction and source of communcation or planner or their implementer are not appropriate, then
we can not get expected success by presuppositive content. It is important for the solution of the problem that participatory
understanding should be created and receptor had ability to solve that. It would be not only enhance the mutual
understanding but would also promote mutual trust between the source and the receptor.

For message and their communication, and appropriate and right direction is also of much important. This path channel
should be under the area of participant and should be conformity with communication’s goals. For example, TV educational
programmes would be successful to achieve their goals only. when illiterate adults have their own medium to reach. It is
important for the success of development programme that it should be integraed; it should be in conformity with people’s
needs and in that their participation should be sought.
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If Development programmes should be integrated, it should be in conformity with people's need and their participation in
that then :

. Development programme will succeed.

. Development programme will be neutral.

. Development programme will not succeed.
. None of these.
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Read the following passage carefully and answer the questions based on it :

Communication gets success because of only one reason that is the message sense in conformity with needs of receptors,
though it should be seen completely separate from source of message. Communication would be only effective, when the
source and the receptor, both draw similar meaning; if communication source would be elitist, for transmission of message
and adopted in downward direction and source of communcation or planner or their implementer are not appropriate, then
we can not get expected success by presuppositive content. It is important for the solution of the problem that participatory
understanding should be created and receptor had ability to solve that. It would be not only enhance the mutual
understanding but would also promote mutual trust between the source and the receptor.

For message and their communication, and appropriate and right direction is also of much important. This path channel
should be under the area of participant and should be conformity with communication’s goals. For example, TV educational
programmes would be successful to achieve their goals only. when illiterate adults have their own medium to reach. It is
important for the success of development programme that it should be integraed; it should be in conformity with people’s
needs and in that their participation should be sought.
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There is only one reason to get success in communication :

1. Message sense is not in correspondence with Receptor’s need.
2. Message sense is in correspondence with Receptor’s needs.
3. Message sense is in not correspondence with communication source.
4. None of these.
(1) 1
(2) 2
3) 3
4) 4
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Read the following passage carefully and answer the questions based on it :

Communication gets success because of only one reason that is the message sense in conformity with needs of receptors,
though it should be seen completely separate from source of message. Communication would be only effective, when the
source and the receptor, both draw similar meaning; if communication source would be elitist, for transmission of message
and adopted in downward direction and source of communcation or planner or their implementer are not appropriate, then
we can not get expected success by presuppositive content. It is important for the solution of the problem that participatory
understanding should be created and receptor had ability to solve that. It would be not only enhance the mutual
understanding but would also promote mutual trust between the source and the receptor.

For message and their communication, and appropriate and right direction is also of much important. This path channel
should be under the area of participant and should be conformity with communication’s goals. For example, TV educational
programmes would be successful to achieve their goals only, when illiterate adults have their own medium to reach. It is
important for the success of development programme that it should be integraed: it should be in conformity with people’s
needs and in that their participation should be sought.
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We can not get expected success by presuppositive content -

. Communication source should be elite.
2. For the transmission of message there should be adoption of downward path (direction)
3.Both (1) and (2)
4. None of these.
1) 1
(2) 2
3) 3
(4) 4
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Read the following passage carefully and answer the questions that follow :

A sizeable population of the voting audience belongs to the age group of 18/19 years. It is a proven fact that the youth are
the prime users of the Social Media, thus implying that a considerable voting population is active users of the social media.
In fact, this percentage of first time voters is much more than the general elections that were held in 2009.

With inereased awareness about citizens right in democracy, corporate institutions have also acknowledged the voting
process as a fundamental need for smooth functioning of a democracy. Facebook and Times of India have taken a joint
initiative by which they are jointly encouraging people to vote. Facebook has incorporated a new Feature that allows adding
a life event to one’s profile that he/she is registered to vote. One can even choose Date, Photo and Place where he/she is
registered and share his/her story.

According to Digital Insight, which is an online statistical-analysis site, 23% of FB users check account 5 times a day:
60% of twitter users access it from mobile phones; 80% of Google+ users login once a week, 60% uses login daily. This
implies the advantage of putting messages on social media. If we take the Facebook scenario, putting a political propaganda
message on Facebook would mean that the same message would have the probability of being viewed by the millions of
users for almost 5 times a day. This is in close correspondence with the theory of advertising, widely practiced in the market,
that more the repetition of messages, more is people’s remembrance of them.
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©: T+ & 80 UidRId SUURTH ! U g H U dR a3 Bd g, Sidid 60 Wid=d SUdRThdl WidfaT
T3 BRd ¢ | 3UP! [Higard 4g ¢ o GiRrd HifSar iR Y= STa- &1 a4 ¢ | afd gH hag® & JRes IR
o ST dl hadd IR st WUIST dTell He=l STai @l 31 Ug g b Il Ho=1 &1 ufdfe
FRISI ITINTEHI31 GRT & S B YU g1l | I8 [991949 & [¥Gid & 91 Mo Jd @rdl o, ford
AINIR H 39 U H Sif-dd {1 S71d1 g fb Te=1 St fora-t sifefe grRigid grit dn 38 3a- ol 3ifed are
TG

What is essential for smooth conduct of democratic elections?

. Social media

. Awareness

. Election Campaign
. Strict Law

1) 1

) 2

3) 3

(4) 4

Al diEid I41d & YIS AN & (o0 &1 31a=ad g 2

1. e Hitsan
2. SIRE T
3. IA19 A
4. HSI DA
(1)1
(2) 2
(3) 3
(4) 4

R O R
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Read the following passage carefully and answer the questions that follow :

A sizeable population of the voting audience belongs to the age group of 18/19 years. It is a proven fact that the youth are
the prime users of the Social Media, thus implying that a considerable voting population is active users of the social media.
In fact, this percentage of first time voters is much more than the general elections that were held in 2009.

With inereased awareness about citizens right in democracy, corporate institutions have also acknowledged the voting
process as a fundamental need for smooth functioning of a democracy. Facebook and Times of India have taken a joint
initiative by which they are jointly encouraging people to vote. Facebook has incorporated a new Feature that allows adding
a life event to one’s profile that he/she is registered to vote. One can even choose Date, Photo and Place where he/she is
registered and share his/her story.

According to Digital Insight, which is an online statistical-analysis site, 23% of FB users check account 5 times a day:
60% of twitter users access it from mobile phones; 80% of Google+ users login once a week, 60% uses login daily. This
implies the advantage of putting messages on social media. If we take the Facebook scenario, putting a political propaganda
message on Facebook would mean that the same message would have the probability of being viewed by the millions of
users for almost 5 times a day. This is in close correspondence with the theory of advertising, widely practiced in the market,
that more the repetition of messages, more is people’s remembrance of them.

HAG B dldl SHgD! DI (@I TSHU) DI U dgd do! S8l 18/19 Y & 3R] GHE B 5 | UE UD
2 g fob ga1 i1 HiRre HifSar & {3 SUARThdl g SR 38 YbR, HdalH $R- dldl Hgayul S]]
e Hifgan o1 gfhd IUFND ! ¢ 1 S Ed, UYH dR HdeH - dTd Hderdred &1 ag Widrd 2009 |
TSI T8 AT U gl 3fe® ¢

cliebda H ANTR® & HIUBRI & IR H d¢dl SREdhdl & 1Y BRYRC TRITHT = Hi dldhdal & R &1
Y B B b (1T HAGTT UlshdT Bl U HURYd HaRbdl b U H HHI & | gD AR IR 3
a1 = U dgad ygd @l o, i 3fdvid d {1 S &R @l &1 HdaH o ol iidnigd S 38 6|

U S iRA® 4-[a2dyu Hrge (Sied 3ause’ & IR Bagd & 23 Uia<d SYgNTdhdl I+
UHIE Bl U f&4 H 5 IR USdId PRd o; <ideX & 60 WTd IuaiThd! Aldigd B d 39 W ddb Ugdd
©: T+ & 80 WA= SUARTh ! U Hulg H U dR a2 Bd g, Sidid 60 Wid=d SUdRThdl WidfdT
A3 Hd ¢ | 39! Higdrd 1g ¢ fo Uierd HifSar IR Yew STe &1 a1 g1 afd gH hugs & JRe™ IR
o ST dl hadd IR ISl WUIST aTell He=l STa- @l 31 Ug i o Il He=r &1 ufdfe ur:
FRISI ST GRT & S B YU 81l | I8 [931949 & RiGid & 91 e 5d @rdl o, ford
AR H 39 U H SRi-dd {1 Sl g fb Wa=1 St fSa-t sifere gRigid gril anT 38 3a- ol 31 are
TG

Enrollement of First Time voters is

1. Decreasing
2. Increasing
3. Useful for elections
4. Strength of elections
(1) 1
(2) 2
(3) 3
(4) 4

UYH R HdgH ®3- dic AdGIdI3ii &1 Uoiid ] gl

1. "9 gl
2.9 gl
3. 919 & (AT SR
4. g1 I fad
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31285] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q97
2[Option ID=31286]

3[Option ID=31287]
4[Option ID=31288]
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Read the following passage carefully and answer the questions that follow :

A sizeable population of the voting audience belongs to the age group of 18/19 years. It is a proven fact that the youth are
the prime users of the Social Media, thus implying that a considerable voting population is active users of the social media.
In fact, this percentage of first time voters is much more than the general elections that were held in 2009.

With inereased awareness about citizens right in democracy, corporate institutions have also acknowledged the voting
process as a fundamental need for smooth functioning of a democracy. Facebook and Times of India have taken a joint
initiative by which they are jointly encouraging people to vote. Facebook has incorporated a new Feature that allows adding
a life event to one’s profile that he/she is registered to vote. One can even choose Date, Photo and Place where he/she is
registered and share his/her story.

According to Digital Insight, which is an online statistical-analysis site, 23% of FB users check account 5 times a day:
60% of twitter users access it from mobile phones; 80% of Google+ users login once a week, 60% uses login daily. This
implies the advantage of putting messages on social media. If we take the Facebook scenario, putting a political propaganda
message on Facebook would mean that the same message would have the probability of being viewed by the millions of
users for almost 5 times a day. This is in close correspondence with the theory of advertising, widely practiced in the market,
that more the repetition of messages, more is people’s remembrance of them.

HAG B dldl SHgD! DI (@I TSHU) DI U dgd do! S8l 18/19 Y & 3R] GHE B 5 | UE UD
2 g fob ga1 i1 HiRre HifSar & {3 SUARThdl g SR 38 YbR, HdalH $R- dldl Hgayul S]]
e HifSar 31 Fichy ITFRTH § 1 SR, UUH IR HASH P dTdd Adaldisii &1 dg Ufdwrd 2009 H
TSI 3118 F1d J Bl D B

cliebda H ANTR® & HIUBRI & IR H d¢dl SREdhdl & 1Y BRYRC TRITHT = Hi dldhdal & R &1
B DR & [T HAGT Ulchdl Dl U AURY G Dhdl b &Y H H g | Bhadd AR TR (h
a1 = U dgad ygd @l o, i 3fdvid d {1 S &R @l &1 HdaH o ol iidnigd S 38 6|

U S iRA® 4-[a2dyu Hrge (Sied 3ause’ & IR Bagd & 23 Uia<d SYgNTdhdl I+
UHIE Bl U f&4 H 5 IR USdId PRd o; <ideX & 60 WTd IuaiThd! Aldigd B d 39 W ddb Ugdd

. I . s e et
: TAT+ & 80 UITd SUGITbdl Usb Yug H Ush &R AlIS d g, STdid 60 Hiderd Izl Ufdfd
A3 Hd o | 29P1 [Afgard ug ¢ fob Terd HifSan iR Haw Sie &1 aiy ¢ | 3fe g0 hydd & URe™ )
o ST dl hadd IR ISl WUIST aTell He=l STa- @l 31 Ug i o Il He=r &1 ufdfe ur:

. T ' . C ' =

FRISI ST GRT & S B YU 81l | I8 [931949 & RiGid & 91 e 5d @rdl o, ford
4R H 28 &Y H Srff-ad a1 Srar ¢ fob Gem @ fSra-1 sifere grrrafa gt @ 39 I g ##fid a1
G|

Theory of advertising means :

. To create pressure on people
. To sale products to any

. To remember

. To purchase products

(1) 1

(2) 2

(3) 3

(4) 4

[ & Rigid &1 3 g -

B R

1. S IR Ge1d g9
2. fooddt &1 i ITE F1 [ g B

ERUIFRECE]]
4. I Bl BT BT
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31289] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q98
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Read the following passage carefully and answer the questions that follow :

A sizeable population of the voting audience belongs to the age group of 18/19 years. It is a proven fact that the youth are
the prime users of the Social Media, thus implying that a considerable voting population is active users of the social media.
In fact, this percentage of first time voters is much more than the general elections that were held in 2009.

With inereased awareness about citizens right in democracy, corporate institutions have also acknowledged the voting
process as a fundamental need for smooth functioning of a democracy. Facebook and Times of India have taken a joint
initiative by which they are jointly encouraging people to vote. Facebook has incorporated a new Feature that allows adding
a life event to one’s profile that he/she is registered to vote. One can even choose Date, Photo and Place where he/she is
registered and share his/her story.

According to Digital Insight, which is an online statistical-analysis site, 23% of FB users check account 5 times a day:
60% of twitter users access it from mobile phones; 80% of Google+ users login once a week, 60% uses login daily. This
implies the advantage of putting messages on social media. If we take the Facebook scenario, putting a political propaganda
message on Facebook would mean that the same message would have the probability of being viewed by the millions of
users for almost 5 times a day. This is in close correspondence with the theory of advertising, widely practiced in the market,
that more the repetition of messages, more is people’s remembrance of them.

HAG B dldl SHgD! DI (@I TSHU) DI U dgd do! S8l 18/19 Y & 3R] GHE B 5 | UE UD
2 g fob ga1 i1 HiRre HifSar & {3 SUARThdl g SR 38 YbR, HdalH $R- dldl Hgayul S]]
e Hifgan o1 gfhd IUFND ! ¢ 1 S Ed, UYH dR HdeH - dTd Hderdred &1 ag Widrd 2009 |
TSI T8 AT U Dol e ¢

cliebdd H ANTR® & HUBRI b IR H d¢dl S Reddl & 1 HRYRC TR = Hi dldhdal & o &1
BT B b (1T HAGTHT UlhAT Bl U AHURYd Al b U H HHI | gD AR IR 3
Sfea1 = U Tgad Ugd @l o, forgah 3faiid d fid Sl & @l &1 Hda o ol idnied F 3G 6|

U A HiReH® H-[qLy0T i5e TSioed 3Aurge” & S dR Gy & 23 Ud=d udiTad! -
THIe Bl U f&4 H 5 IR USdid P ; <idey & 60 WiTd IuAiThdl Aidigd B d 39 W ddb Ugdd
©: T+ & 80 UidRId SUURTH ! U g H U dR a3 Bd g, Sidid 60 Wid=d SUdRThdl WidfaT
T3 BRd ¢ | 3UP! [Higard 4g ¢ o GiRrd HifSar iR Y= STa- &1 a4 ¢ | afd gH hag® & JRes IR
o ST dl hadd IR st WUIST dTell He=l STai @l 31 Ug g b Il Ho=1 &1 ufdfe
FRISI ITINTEHI31 GRT & S B YU g1l | I8 [991949 & [¥Gid & 91 Mo Jd @rdl o, ford
AINIR H 39 U H Sif-dd {1 S71d1 g fb Te=1 St fora-t sifefe grRigid grit dn 38 3a- ol 3ifed are
TG

As above paragraph which is powerful media for election awareness

. Twitter

. Facebook

. Whatsapp

. All of above
1) 1

(2) 2

3) 3

(4) 4

RIS Tl & HTHR F11d & TR H SFRehdl & [T B9 A (Hifsan wfedemed ¢ 2

1. Tfdex
2. BadH

3. drey3M
4. 3WRIad gHT

1) 1
(2) 2
(3) 3
(4) 4

N S R
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Read the following passage carefully and answer the questions that follow :

A sizeable population of the voting audience belongs to the age group of 18/19 years. It is a proven fact that the youth are
the prime users of the Social Media, thus implying that a considerable voting population is active users of the social media.
In fact, this percentage of first time voters is much more than the general elections that were held in 2009.

With inereased awareness about citizens right in democracy, corporate institutions have also acknowledged the voting
process as a fundamental need for smooth functioning of a democracy. Facebook and Times of India have taken a joint
initiative by which they are jointly encouraging people to vote. Facebook has incorporated a new Feature that allows adding
a life event to one’s profile that he/she is registered to vote. One can even choose Date, Photo and Place where he/she is
registered and share his/her story.

According to Digital Insight, which is an online statistical-analysis site, 23% of FB users check account 5 times a day:
60% of twitter users access it from mobile phones; 80% of Google+ users login once a week, 60% uses login daily. This
implies the advantage of putting messages on social media. If we take the Facebook scenario, putting a political propaganda
message on Facebook would mean that the same message would have the probability of being viewed by the millions of
users for almost 5 times a day. This is in close correspondence with the theory of advertising, widely practiced in the market,
that more the repetition of messages, more is people’s remembrance of them.

HAG B dldl SHgD! DI (@I TSHU) DI U dgd do! S8l 18/19 Y & 3R] GHE B 5 | UE UD
2 g fob ga1 i1 HiRre HifSar & {3 SUARThdl g SR 38 YbR, HdalH $R- dldl Hgayul S]]
e HifSar 31 Fichy ITFRTH § 1 SR, UUH IR HASH P dTdd Adaldisii &1 dg Ufdwrd 2009 H
TSI 3118 F1d J Bl D B

cliebda H ANTR® & HIUBRI & IR H d¢dl SREdhdl & 1Y BRYRC TRITHT = Hi dldhdal & R &1
B DR & [T HAGT Ulchdl Dl U AURY G Dhdl b &Y H H g | Bhadd AR TR (h
a1 = U dgad ygd @l o, i 3fdvid d {1 S &R @l &1 HdaH o ol iidnigd S 38 6|

U S iRA® 4-[a2dyu Hrge (Sied 3ause’ & IR Bagd & 23 Uia<d SYgNTdhdl I+
UHIE Bl U f&4 H 5 IR USdId PRd o; <ideX & 60 WTd IuaiThd! Aldigd B d 39 W ddb Ugdd

. I . s e et
: TAT+ & 80 UITd SUGITbdl Usb Yug H Ush &R AlIS d g, STdid 60 Hiderd Izl Ufdfd
A3 Hd o | 29P1 [Afgard ug ¢ fob Terd HifSan iR Haw Sie &1 aiy ¢ | 3fe g0 hydd & URe™ )
o ST dl hadd IR ISl WUIST aTell He=l STa- @l 31 Ug i o Il He=r &1 ufdfe ur:

. T ' . C ' =

FRISI ST GRT & S B YU 81l | I8 [931949 & RiGid & 91 e 5d @rdl o, ford
4R H 28 &Y H Srff-ad a1 Srar ¢ fob Gem @ fSra-1 sifere grrrafa gt @ 39 I g ##fid a1
G|

At the Time of elections, role of social media is

. Influencer

. Game changer

. Educator to public
. Expensive

(1) 1

(2) 2

(3) 3

(4) 4

419 & A IR HifSa1 &1 YT HEIHE

L. JHIGRITl
RIEEEN
3. Sl & 1D
s

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=31297] Question Description : mass_communicaon_and_joul_mass communicaion and joul_set 1_english_q100
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




